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First answers are right
OSTEOLOGY

1. The bone grows in length due to:

1. Metaphyseal cartilages.

2. Epiphyseal centres of osification.

3. Diaphyseal cavity.

4. Diaphysis.

5. Periosteum.

2. The bone grows in width due to:

1. Kambial layer of periosteum.

2. Apophysis.

3. Diaphysis.

4. Epiphyseal cartilages.

5. Medullar cavity.

3. Clavicle is classified as:
1. Mixed bone.

2. Spongy bone.

3. Tubular bone.

4. Flat bone.

5. Sesamoid bone.

4. Patella is classified as:
1. Sesamoid bone.

2. Mixed bone.

3. Spongy bone.

4. Tubular bone.

5. Pneumatic bone.

5. What bones of an adult have red bone marrow?

1. Sternum, ribs, vertebrae, bones of skull, epiphysis of tubular bones.

2. Sternum, tubular bones, bones of pelvis.

3. Ribs, bones of skull, vertebrae, long tubular bones.

4. Flat and spongy bones, epiphysis and of tubular bones.

6. The bones of shoulder girdle are:

1. Scapula, clavicle.
2. Scapula, clavicle, sternum.

3. Scapula, humerus, clavicle.

4. Sternum, scapula, humerus.

5. Scapula, clavicle, first rib.

7. In which bone is the radial fossa located?

1. Humerus.

2. Ulna.

3. Radius.

4. Clavicle.

5. Sternum.

8. Which bone of the forearm is located medially?

1. Ulna.

2. Radius.

9. Name the bones which have a styloid process:

1. Temporal bone, ulna, radius.

2. Ulna, radius, pisiform bone.

3. Temporal bone, radius, humerus.

4. Radius, humerus, ulna.

5. Sternum, clavicle, temporal bone.

10. Lunate and scaphoid bones belong to:

1. Proximal row of carpal bones.

2. Distal and proximal rows of carpal bones.

3. Distal row of carpal bones.

4. Bones of metacarpus.

5. Sesamoid bones.

11. How many metacarpal bones are there in one hand?

1. 5.

2. 8.

3. 14.

4. 12.

5. 7.

12. Which vertebra has the carotid tuberculum?

1. 6-th cervical.

2. 7-th cervical.

3. 5-th cervical.

4. 1-st thoracic.

5. 2-nd cervical.

13. In which plane are the articular processes of thoracic vertebrae located?

1. Frontal.

2. Horizontal.

3. Sagittal.

4. Between sagittal and frontal.

5. Between frontal and horizontal.

14. Which vertebra doesn’t have a body?

1. 1-st cervical.

2. 2-nd cervical.

3. 5-th cervical.

4. 6-th cervical.

5. 1-st thoracic.

15. Which vertebrae have fo-

ramen of transverse processes?

1. Cervical.

2. Cervical except 1-st.

3. Cervical except 6-th.

4. Thoracic.

5. Lumbar.

16. Which thoracic vertebrae have the complete costal facet on its body?

1. 1, 11, 12.

2. 10, 12.

3. 1, 10, 11, 12.

4. 1, 12.

5. 1, 10, 11.

17. Which bones have the auricular surfaces?

1. Sacrum and iliac bone.

2. Sacrum and temporal bone.

3. Temporal bone and iliac bone.

4. Sternum and sacrum.

5. Scapula and sacrum.

18. How many vertebrae does the vertebral column have?

1. 30-34.

2. 35-38.

3. 34-36.

4. 30-32.

5. 31-32.

19. Which bones have the spinous process?

1. Vertebrae.

2. Ulna.

3. Humerus.

4. Temporal.

5. Sphenoid.

20. Which ribs are joined to the sternum?

1. 1-7.

2. 8-9.

3. 8-10.

4. 9-10.

5. 8-11.

21. Which vertebrae have the bifid spinous processes?

1. Cervical except 1-st and 7-th.

2. Lumbar.

3. Thoracic except 1-st.

4. Sacrum and lumbar.

5. 6-th and 7-th lumbar.

22. What is the largest measure of the pelvis?

1. Transverse diameter.

2. Diagonal conjugate.

3. Oblique diameter.

4. Anatomical conjugate.

5. Gynaecological conjugate.

23. Which bone has xiphoid process?

1. Sternum.

2. Temporal bone.

3. 4-th cervical vertebra.

4. Scapula.

5. 6-th cervical vertebra.

24. Which vertebra has fovea dentis?

1. 1-st cervical.

2. 3-th cervical.

3. 2-nd cervical.

4. 1-st thoracic.

5. 12-th thoracic.

25. Which bone has the trochanters?

1. Femur.

2. Tibia.

3. Fibula.

4. Calcaneus.

5. Navicular.

26. Which bone has a medial malleolus?
1. Tibia.

2. Fibula.

3. Talus.

4. Navicular.

5. Femur.

27. Which parts the foot has?
1. Tarsus, metatarsus, phalanges.

2. Carpus, metacarpus, metatarsus.

3. Phalanges, carpus, metatarsus.

4. Metatarsus, carpus, phalanges.

5. Metacarpus, metatarsus, phalanges.

28. What are the borders of scapula?

1. Lateral, medial, superior.

2. Lateral, medial, inferior.

3. Superior, inferior, lateral.

4. Lateral, inferior, posterior.

29. What are the physiological curvatures of vertebral column?
1. Cervical and lumbar lordoses, thoracic and sacral kyphosis.

2,Cervical and lumbar lordoses, . thoracic kyphosis.

3. Thoracic and cervical lordoses,lumbar kyphosis.

4. Cervical,sacral and  lumbar lordosis,.

4. Cervical and  sacral kyphosis, thoracic lordosis.

30. Which vertebrae has the costal facets on its transverse processes?

1. 1-10 thoracic

2. Cervical and lumbar.

4. Lumbar and sacral.

5. 11-12 thoracic.

31. Which ribs has not the costal groove?

1. 1 and 12.

2. 2-11.

3. 1, 2.

4. True ribs.

5. False ribs.

32. What are the boundaries of the thoracic inlet?

1. Body T1 vertebra, manubrium sterni, 1-st ribs.

2. Body T2 vertebra, manubrium sterni, 1-st ribs, clavicle.

3. Body C7vertebra, manubrium sterni, 1-st ribs, clavicle.

4. Infrasternal angle, T12 vertebra, 7-12 ribs.

33. What are the boundaries of the thoracic outlet?

1. Infrasternal angle, T12 vertebra, 7-12 ribs.

2. Body T1 vertebra, manubrium of sternum, 1-st rib.

3. Body T2 vertebra, manubrium of sternum, 1-st rib, clavicule.

4. Body C7 vertebra, manubrium of sternum, 1-st rib, clavicule.

34. On which rib is tubercle for scalenus anterior muscle located?

1. On 1.

2. On 2.

3. On 10.

4. On 11.

5. On 12.

35. On which thoracic vertebrae are costal facets on the transverse processes absent?

1. On XI, XII.

2. On X.

3. On IX.

5. On III.

36. Which vertebra is the prominent vertebra?

1. VII cervical.

2. I cervical.

3. V lumbar.

4. I sacral.

5. VII thoracic.

37. On which part of sternum is jugular notch located?

1. Manubrium.

2. Body.

3. Xiphoid process.

4. Sternal angle.

38. What structures form the intervertebral foramen?

1. Upper vertebral incisura and lower vertebral incisura.

2. Upper vertebral incisura and two transverse processes.

3.Lower vertebral incisura and  two bodies of vertebrae.

4. Two vertebral arches.

39. What are the characteristic features of all thoracic vertebrae?

1. Costal facets on the body.

2. Small body.

3. Costal facets on the transversus process.

40. What are the characteristic features of the first cervical vertebra?

1. Anterior and posterior arches, 4 articular facets, transversus processes,lateral masses,

 anterior and posterior tubercles.

2. Body, arch, processes,lateral masses,transverse processes.

3. Anterior and posterior arches,body.

41. What is the name of the junction between base of sacrum and body of the last lumbar vertebra?

1. Promontory.

2. Protection.

3. Atlant.

4. Axis.

42. What are the special features of the first rib?
1. Head has one articular facet; tubercle and angle of shaft are in one point; it has no costal  groove.

2. Head has two articular facets; shaft has outer and inner surfaces and upper and lower borders.

3. Head has two articular facets; it is the shortest, broadest shaft and has upper and lower borders.

43. What are the structures related to grooves on superior surface of the first rib?

1. Arterior groove for subclavian vein; posterior groove for subclavian artery.

2. Arterior groove for subclavian artery; posterior groove for subclavian vein.

44. What are the special features of the 12th rib?

1. Neck, tubercle, angle and groove are absent.

2. Groove, angle and head are absent.

3. Neck is absent; head has two articular facets.
45. What are the typical thoracic vertebrae?

1. 2nd-9th thoracic vertebrae.

2. 1st-10th thoracic vertebrae.

3. 2nd-10th thoracic vertebrae.

4. 1st, 9th-12th thoracic vertebrae.

46. Which vertebra has two arches?

1. I cervical.

2. II thoracic.

3. I sacral.

4. II cervical.

47. Which bones form the shoulder girdle?

1. Clavicle, scapula.

2. Clavicle, acromion.

3. Scapula, olecranon.

4. Sternum, scapula.

48. Name processes of the scapula?

1. Coracoid, acromion.

2. Sternal, coracoid

3. Coronoid, acromion.

4. Spine, coracoid.

49. On which margin of scapula is scapular notch located?

1. Superior.

2. Inferior.

3. Medial.

4. Lateral.

5. Anterior.

50. On which surface of humerus is deltoid tuberosity located?

1. Lateral.

2. Medial.

3. Anterior.

4. Posterior.

51. On which end of humerus are medial and lateral epicondyles located?

1. Distal.

2. Upper.

3. Proximal.

4. Lower.

52. What is the anatomical position of the humerus in arm?

1. Head is directed medially, upwards and backwards.

2. Head is directed laterally, upwards and backwards.

3. Medial epicondile is directed anteriorly.

53. What are the boundaries of the trochlear notch of ulna?

1. Olecranon, coronoid process.

3. Olecranon, styloid process.

4. Olecranon, trochlear process.

5. Olecranon, acromion process.

54. On which surface of radius is radial tuberosity situated?

1. Medial.

2. Lateral.

3. Anterior.

4. Posterior.

55. On which end of ulna is head located?
1. Distal.

2. Proximal.

3. Medial.

4. Lateral.

56. On which end of radius is head located?
1. Proximal.

2. Distal.

3. Medial.

4. Lateral.

57 . Where is ulnar groove present?

1. Posterior surface of medial epicondyle of humerus.

2. Posterior surface of lateral epicondyle of humerus.

3. On the posterior surface of shaft of humerus.

4. On the anterior surface of shaft of humerus.

58. What are the different parts of hip bone?

1. Ilium, pubic, ischium.

2. Ilium, acetabulum, pubic.

3. Ischium, ilium, femur.

4. Ilium, sacrum, pubic, ischium.

59. What bones form the boundaries of obturator foramen?

1. Pubic and ischium.

2. Ilium and pubic.

3. Sacrum and ischium.

4. Ilium and ischium.

60. Which structures form terminal line?

1. Arcuate lines of hip bones and promontorium of sacrum.

2. Pubic crest and pubic symphisis.

3. Abturator groove and iliac crest.

4. Arches of pubic bone and pubic symphysis.

61. Where is the intertrochanteric crest of femur located?

1. Between trochanters on the posterior surface.

2. Between trochanters on the anterior surface.

3. Between trochanters on the medial surface.

4. Between trochanter and head of femur.

62. Where is trochateric fossa of femur located?
1. On medial surface of greater trochanter.

2. On lateral surface of lesser trochanter.

3. On the neck.

4. Lower intertrochanteric crest.

63. Where is a rough line of the femur situated?

1. On posterior surface of the femur shaft.

2. On anterior surface of the femur shaft.

3.On posterior surface of the trochanters.

4. Between head and greater trochanter.

64. What is the normal anatomical position of the femur in the thigh?

1. Head is directed medially, two condyles are on the distal epiphysis. 

2. Head is directed laterally, two condyles are on the lower surface  

65. Which sesamoid bones present in the lower limb?

1. Patella, two bones  on the foot.

2. Patella, epicondyles.

3. Patella, navicular.

4. Patella, cuboid.

66. Which structures are located on the posterior surface of tibia?

1. Line of soleus muscle.

2. Pectineus line.

3. Linea aspera.

4. Patellar surface.

5. Intercondylar fossa.

66. Which structures are located on the posterior surface of tibia?

1. Line of soleus muscle.

2. Pectineus line.

3. Linea aspera.

4. Patellar surface.

5. Intercondylar fossa.

67. What are parts of the ilium?

1. Body and wing.

2. Body and crest.

3. Body and rami.

4. Body and head.

68. What are parts of the  ischium?

1. Body and 1 ramus.

2. Body and  2 rami.

3. Body and wing.

4.Body and crest.

69. What are parts of the  pubis?

1. Body and 2 rami..

2. Body and  1 ramus.

3. Body and wing.

4.Body and crest.

70. What are boundaries of the obturator foramen?

1. Two rami of the pubis and ramus of the ischium.

2. One ramus of the pubis and ramus of the ischium.

71. By means of what structures is acetabulum formed?

1. By bodies of the ilium, ischium and pubis.

2. By bodies of the ilium and pubis.

3. By bodies of the ilium and ischium.

4. By bodies of the  ischium and pubis.

72. How many tarsal bones are on the foot?

1. 7

2. 6.

3. 8.

4. 5.

73. On which tarsal bone the sustentaculum tali is located ?

1.On the calcaneus.

2. On the talus.

3. On the navicular bone.

4.  On the cuboid bone.

74. Which bone is medial bone of the leg?

1. Tibia

2. Fibula.

3. Ulna 

4. Femur.

75. What bone has a lateral malleolus?

1. Fibula

2. Tibia

3. Femur

4. Ulna

76. On what fibular epiphysis is head located?

1. Proximal

2. Distal.

3. Medial 

4. Lateral

77. How many carpal bones are on the hand?

1. 8

2. 10

3. 6

4. 9

78. What two rows are formed by the carpal bones?

1. Proximal and distal.

2. Superior and inferior.

3. First and second.

4. Medial and lateral.

79. Which carpal bone of the hand is sesamoid?

1. Pisiform

2. Lunate

3. Capitate

4. Scaphoid

80. Which bones are called “sesamiod”?

1. Small bones located inside muscle’s tendon.

2. Small bones located inside muscle’s belly.

3. Small bones located outside muscle’s tendon.

4. Small bones located outside muscle’s belly.

81. On which end of the humerus is capitulum humeri located?

1. Distal epiphysis.

2. Proximal epiphysis.

3. Medial epiphysis.

4. Lateral  epiphysis.

82. On which surface of the humerus is sulcus nervi radialis located?

1. Posterior.

2. Anterior.

3. Medial.

4. Lateral.

83. Which bone of the forearm is medial bone?

1. Ulna.

2. Radius.

3. Humerus.

4. Metacarpal.

84. On what forearm’s bone is the large styloid process located?

1. Radius.

2. Ulna.

3. Humerus .

4. Metacarpal.

85.  Interosseus margin of the ulna faces:

1. Laterally

2. Medially

3. Proximally

4. Distally

86. Interosseus margin of the radius faces:

1. Medially

2. Laterally

3. Proximally

4. Distally

87. What ribs are called “true”?

1. 1-7.

2.  8-10.

3. 11,12.

4. 1-9.

5. 1-6.

88. What ribs are called “false”?

1. 8-10.

2. 1-7.

3. 11,12.

4. 1-9.

5. 1-6.

89.What ribs are called “floating”?

1. 11, 12.

2. 1-7.

3. 8-10.

4. 1-9.

5. 1-6.

90. On which angle of the scapula is cavitas glenoidalis located?

1. Lateral

2. Superior

3. Inferior

4. Medial

91. On which part of the sternum are clavicular notches located?

1. Manubrium.

2. Body.

3. Xiphoid process.

92. How many costal facets are on  the lateral margin of the manubrium sterni?

1.  One and half.

2. Two.

3. One.

4. Two and half.

93. Which vertebra has only transverse processes?

1. 1-st cervical.

2. 2-nd cervical.

3. 5-th cervical 

4. 1-st thoracic.

94. Which vertebra has dens?

1. Axis

2. Atlas

3. Prominens

95. On what process of  6-th cervical vertebra is  carotid tubercle located?

1. Transverse

2. Spinous

3. Superior articular

4. Inferior articular

96. Which cervical vertebra has longest spinous process?

1. 7.

2. 6.

3. 5.

4. 4.

97. How many vertebrae form sacrum?

1. 5.

2. 4.

3. 6.

98. How many vertebrae form coccyx usually?

1. 1-5

2. 1-3

3. 1-6

4. 1-7

99. Crista sacralis mediana is formed by following processes of the vertebrae:

1. Spinous

2. Transverse

3. Superior articular

4. Inferior articular

100. Hiatus sacralis is:

1. Exit of the sacral canal

2. Entrance of the sacral canal

101. The sagittal plane divides body into the following parts:

1. Right (dexter)  and left (sinister)

2. Superior (upper, cranial) and inferior (lower, caudal)

3. Anterior (front) and posterior (back)

102. The frontal plane divides the body into the following parts:

1. Anterior (front) and posterior (back)

2. Right (dexter)  and left (sinister)

3. Superior (upper, cranial) and inferior (lower, caudal)

103. The horizontal plane divides the body into the following parts:

1. Superior (upper, cranial) and inferior (lower, caudal)

2. Anterior (front) and posterior (back)

3. Right (dexter)  and left (sinister)

SKULL
1. Between what formations of the frontal bone is the ethmoid notch located?

1. Between orbital parts.

2. Between nasal and orbital parts.

3. Between frontal squama  and orbital parts.

4. Between internal part and.

external part.

2. At which surface of the frontal squama is foramen caecum located?

1. Internal.
2. External.


3. Temporal.


4. Lateral.


5. Lower.


3. In which part of the sphenoid bone is canalis opticus located?

1. Lesser wing.

2. Greater wing.

3. Pterygoiod process greater wing.

4. Body.

5. Sella turcica.

4. Which surface of the body of the sphenoid bone has sella turcica?

1. Upper.

2. Back.

3. Front.

4. Lover.

5. Lateral.

5. In which part of the sphenoid bone is foramen rotundum located?

1. Greater wing.

2. Lesser wing.

3. Pterygoid process.

4. Body.

5. Pterygoid hamulus.

6. Which part of the sphenoid bone has orbital surface?

1. Greater wing.

2. Pterygoid process.

3. Lesser wing.

4. Body.

5. Maxillary.

6. Frontal.

7. In which part of the sphenoid bone are lateral and medial plates located?

1. Pterygoid process.

2. Greater wing.

3. Lesser wing.

4. Superior orbital fissure.

5. Sella turcica.

8. On which part of the occipital bone is pharyngeal tubercle located?

1. Basilar part.

2. Lateral part.

3. Occipital squama.

4. Occipital process.

5. Clivus.

9. Which part of the occipital bone has occipital condyle?

1. Lateral part.

2. Basilar part.

3. Occipital squama.

4. External occipital protuberance.

5. Cruciate eminence.

10. Which part of the ethmoidal bone do superior and medial nasal conchae belong to?

1. Ethmoidal labyrinth.

2. Ethmoidal plate.

3. Perpendicular plate.

4. Uncinate process.

5. Ethmoidal bulla.

11. Which part of the temporal bone has zigomatic process?

1. Squamous.

2. Tympanic part.

3. Petrosal part.

4. Mastoid part.

5. Tympanic cavity.

12. Which part of the temporal bone has styloid process?

1. Petrosal part.

2. Lateral part.

3. Basilar part.

4. Perpendicular plate.

5. Tympanic part.

13. Which part of the temporal bone has mastoid process?

1. Petrosal. 
2. Tympanic.


3. Squamosus.


4. Lateral.


5. Pyramidal.


14. To which type of bones does maxilla belong to?


1. Paired bones, pneumatic.


2. Unpaired bones.


3. Sesamoid.


4. Pneumatic.


15. On which surface of the maxilla is foramen infraorbitale located?

1. Anterior surface.

2. Orbital surface.

3. Infraorbital surface.

4. Nasal surface.

5. Alveolar surface.

16. Which type of bones does the palatine bone belong to?

1. Paired.

2. Unpaired.

3. Pneumatic.

17. Which bones have perpendicu-lar and horizontal plates?

1. Palatine.
2. Nasal.


3. Zygomatic.


4. Hyoid.


5. Temporal.


18. What are the boundares of the jugular foramen?

1. Jugular notch of the occipital and jugular fossa of the temporal bones. 
2. Jugular notch of the occipital and jugular fossa of the temporal bones.


3. Occipital process and pyramid of the temporal bones.


4. Temporal pyramid and clivus.


5. Basilar part of the occipital bone and temporal pyramid.

19. What parts does the frontal bone have?

1. Squama part, orbital part, nasal part.

2. Squama part, orbital par jugular fossae, petrosal part.

3. Squama part, orbital part, basilar part.

20. What parts does sphenoidal bone have?

1. Body, greater and lesser wings, pterygoid processes.
2. Body and two pairs of processes.


3. Body, frontal process, greater and lesser wings.

21. Choose all parts of the occipital bone:

1.Basilar,lateral parts and occipital squama.
2. Basilar, lateral and mastoid parts.


3.  Basilar,orbital and lateral parts.


22. Which margins does parietal bone have?


1. Frontal, occipital, sagittal, squamous.


2. Frontal, occipital, mastoid,sagittal.


6. Frontal, occipital, sagittal, zygomatical.


23. On which surface of the temporal pyramid is trigeminal impression located?
1. Anterior.
2. Posterior.


3. Inferior.


4. Superior.

5. Medial.

6. Lateral.

24. Name the parts of the maxilla:

1. Body, frontal process, palatine process, alveolaris process, zygomatic process.
6. Body, frontal process, palatine process, maxillar process.


7. Body, frontal process, palatine process, pterygoid process.


8. Body, frontal process, palatine process, alveolaris process, occipital process.


25. What are the portions of the internal base of skull?

1. Anterior, middle and posterior cranial fossae.
2. Temporal, infratemporal, anterior cranial fossae.

3. Pterygoid, anterior and posterior cranial fossae.

26. Pterygopalatine fossa is connected with nasal casity through:

1. Foramen sphenopalatinum.
2. Foramen rotundum.


3. Foramen lacerum.


4. Inferior orbital fissure.


5. Foramen ovale.


27. Pterygopalatine fossa is connected with middle cranial fossa through:


1. Foramen rotundum.
2. Foramen sphenopalatinum.


3. Foramen lacerum.


4. Foramen ovale.


5. Pterygoid canal.


28. What is the cephalic index?


1. The ratio of the maximum diameter to the maximum length of the skull.
2. It is the highest point on sagittal suture.


3. The ratio of the minimum diameter to the maximum length of the skull.

4. Meeting point between coronal and sagittal sutures.

29. What types of skull are distingnished by cephalic index?

1. Brachycephalic, mesocephalic, dolichocephalic.

2. Mesocephalic, dolichocephalic, miton.

3. Meson, metacephalic.

30. Name surfaces of the greater wings of the sphenoid bone?
1. Orbital, temporal cerebral, maxillary,infratemporal.

2. Infratemporal, basilar, pterygoid, orbital.

3. Anterior, temporal, infratemporal, cerebral.

31. What bones of skull have pneumatic sinuses?

1. Ethmoid, frontal, maxilla, sphenoid.

2. Ethmoid, occipital, nasal.

3. Ethmoid, occipital, temporal.

4. Ethmoid, zygomatic, occipital, frontal.

32. What is the ratio of cerebral and facial skull of new-born?

1. 8:1.
2. 8:3.


3. 4:1.


4. 2:1.


5. 1:1.


33. Name the periods of more intensive growth of facial skull of a child?

1. The period of sexual maturation.
2. The period of formation of milk occlusion (2-6 years).


3. The period of formation of permanent occlusion (7-15 years).


4. The period of formation of milk and permanent occlusion.


34. What formations are jointed through the sphenopalatine foramen?

1. Pterygopalatine fossa and nasal cavity.
2. Infratemporal and pterygopalatin fossae.


3. Sphenoidal sinus and nasal cavity.


4. Bone palate and pterygopalate fossa.


5. Medial cranial fossa and pterygopalate fossa.

35. What formations are jointed through the pterygoid canal?

1. Pterygopalatin fossa and external base of the skull.

2. Spenoidal sinus and nasal cavity.

3. Pterygopalatin fossa and nasal cavity.

4. Bones palate and pterygopalate fossa.

5. Medial cranial fossa and pterygopalatin fossa.

36. Which of the mentioned structures is connected through the foramen rotundum?

1. Middle cranial fossa with pterygopalatine fossa.
2. Pterygopalatine fossa with external base of skull.

3. Sphenoid sinus with nasal cavity.

4. Pterygopalatine fossa with nasal cavity.

5. Bone palate with pterygopalatine fossa.

37. In which of the formations does maxillar sinus open?

1. Middle nasal meatus.
2. Pterygopalatine fossa.


3. Superior nasal meatus.


4. Inferior nasal meatus.


5. Sphenoid sinus.


38. In which of the formations does frontal sinus open?


1. Middle nasal meatus.
2. Superior nasal meatus.


3. Inferior nasal meatus.


4. Common nasal meatus.


5. Pterygopalatine fossa.


39. Which openings are located on the bone (hard) palate?


1. Greater palatine foramen, lesser palatine foramen, incisive foramen.

2 Greater palatine foramen, lesser palatine foramen, ethmoidal foramen.

3 Greater palatine foramen, lesser palatine foramen, millar foramen.

40. On what part of lower jaw is mandibular foramen located?

1. On inner surface of ramus.
2. On anterior surface of body.

3. On posterior surface of body.

4. On external surface of body.

5. On the alveolar process.

41. Pterygopalatine fossa connects with orbital cavity through:

1. Inferior orbital fissure.
2. Superior orbital fissure.


3. Rotundum foramen.

4. Foramen orale.

5. Optic canal.

42. Into what formation does the nasolacrimale canal open?

1. Inferior nasal meatus.
2. Superior nasal meatus.


3. Middle nasal meatus.

4. Inferior nasal concha.

43. Name the formations, which belong to occipital bone?

1. Hypoglossal canal, jugular notch.
2. Foramen rotundum, mastoid canal.


3. Stylomastoid foramen, optic canal, jugular foramen.


4. Carotic groove, temporale angle, groove for chiasma.


44. What structures does ethmoid bone have?

1. Perpendicular plate, cribriform plate, etmoidal labyrinth.

2.  Nasal  part, infraorbital bordes.

3. Perpendicular plate, pterygospinous process.

45. In what formation does the canal of the facial nerve begin?

1. Fundus of the internal auditory meatus.
2. Subarcuate fossa.


3. Petrous fossula.


4. Fundus of the external auditory opening.


5. Arcuate eminence.


46. In what formation does carotic canal finish?

1. Apex of petrosal part.
2. Tympanic cavity.


3. Internal auditory meatus.

4. Muscolutubal canal.

5. Jugular fossa.

47. In what formation does facial canal finish?

1. Stylomastoid foramen.
2. Arcuate fossa.


3. Petrosal fossula.


4. Meatus acusticus externus.


5. Canalis musculotubarius.


48. What formations does alveolar process of maxilla have?

1. Dental (alveolar) sockets, interalveolar septa.

2. Oblique line.

3. Myloyoid line.

4. Mental tubercule.

5. Zygomatic arch.

49. What parts does hyoid bone have?

1. Lesser horn, body, greater horn.

2. Lesser horn, lacrimal process.

3. Lesser horn, alveolar process.

4. Greater horn, orbital process.

50. Which bones form the superior wall of orbit?

1. Orbital part of frontal bone, lesser wing of sphenoid bone.

2. Greater wing of sphenoid bone.

4. Nasal part of frontal bone.

5. Lacrimal bone.

6. Zygomatic bone.

51. Which structures form the lateral wall of orbit?

1. Orbital surface of zygomatic bone, orbital surface of greater wing.

2. Orbital surface of occipital bone, orbital surface of lacrimal bone.

3. Orbital surface of zygomatic bone, orbital surface of maxilla.

52. Which structures form the medial wall of orbit?

1. Frontal process of maxilla, lacrimal bone, orbital plate of ethmoid bone, body of sphenoid bone.

2. Greater wing of sphenoid bone, body of sphenoid bone, lacrimal bone.

3. Orbital plate of ethmoid bone, lesser wing of sphenoid bone.

53. The orbit is jointed with middle cranial fossa through the following formations:

1. Superior orbital fissure, optic canal.

2. Anterior and posterior ethmoidal foramen.

3. Zygomaticotemporal foramen.

4. Nasolacrimal canal.

54. Which structures form the nasal floor?

1. Palatine process of maxilla, horizontal plate of palatine bone.
2. Alveolar process of maxilla.


3. Pterygoid process.


4. Medial plate of pterygoid process.


5. Perpendicular plate of palatine bone.


55. Which structures form the septum of nasal cavity?

1. Perpendicular plate of ethmoid bone and vomer.

2. Perpendicular plate of palatine bone and vomer.

3. Medial plate of pterygoid process and vomer.

4. Lateral of pterygoid process and vomer.

56. Which formations open in superior nasal meatus?

1. Sphenoid sinus, posterior ethmoid air cells, sphenopalatine foramen.

3. Frontal sinus.

4. Maxillary sinus.

5. Anterior ethmoid air cells.

6. Middle ethmoid air cells.

57. Which structures form the walls of pterygopalatine fossa?
1. Pterygoid process of sphenoid bone, maxilla, plate of palate bone.

2. Pterygoid process of sphenoid bone, plate of sphenoid bone.

3. Body of sphenoid bone.

4. Ramus of mandibule.

58. What grooves for mentioned sinuses does occipital bone have?

1. For inferior petrosal sinus, for transverse sinus, for superior sagittal sinus, for sigmoid sinus.

2. For superior petrosal sinus, for transverse sinus, for cavernous sinus.

3. For inferior sagittal sinus, for transverse sinus, for superior sagittal sinus.

59. On what formation is arcuate eminence located?

1. Petrous part of temporal bone.
2. Squamous part of temporal bone.

3. Tympanic part of temporal bone.

4. Lateral wall of part of temporal cavity.

5. Fundus of jugular fossa.

60. Parts of the mandibule are:

1. Body, two rami.

2. Body, one ramus.

3. Body, coronoid process.

4. Body, condylar process.

61. What structures are on the mandible’s alveolar part?

1. Alveoli dentales, septae interalveolares, septa interradicularis, jugae alveolaria.

2. Alveoli dentales, septae interalveolares, spina mentalis, tuberculum mentale, foramen mentale.

3. Alveoli dentales, septa interradicularis, jugae alveolaria, foramen mandibulae, lingula mandibulae.

62. What tuberositas is located on the outer surface of the mandibular angle?

1. Tuberositas masseterica.

2. Tuberositas pterygoidea.

1. Tuberositas mentalis.

1. Tuberositas mandibularis.

63. Name the anterior process of the mandibular ramus:

1. Processus coronoideus

2. Processus condylaris

3. Processus corocoideus

4. Processus mandibularis

64. Name the posterior process of the mandibular ramus:

1. Processus condylaris

2. Processus coronoideus

3. Processus corocoideus

4. Processus mandibularis

65. Name the entrance of the mandibular canal:

1. Foramen mandibulae

2. Foramen mentale

3. Foramen alveolaris

4. Foramen condylaris

66. Name the exit of the mandibular canal:

1. Foramen mentale

2. Foramen mandibulae

3. Foramen alveolaris

4. Foramen condylaris

67. What tuberositas is located on the inner surface of the mandibular angle?

1. Tuberositas pterygoidea

2. Tuberositas masseterica

3. Tuberositas mandibularis

4. Tuberositas mentalis

68. What fovea is located above the mylohyoid line?

1. Fovea sublingualis

2. Fovea submandibularis

3. Fovea pterygoidea

4. Fovea mentalis

69. What fovea is located under the mylohyoid line?

1. Fovea submandibularis

2. Fovea sublingualis

3. Fovea pterygoidea

4. Fovea mentalis

70. On what part of mandible is fovea pterygoidea located?

1. On the neck

2. On the head

3. On the angle

4. On the body

71. On what surface of the maxilla are foramina alveolaria located?

1. On the infratemporal surface

2. On the anterior surface

3. On the nasal surface

4. On the alveolar surface

72. Sinus maxillaris opens on the:

1. Nasal surface of the maxillar body

2. Nasal surface of the frontal process

3. Nasal surface of the alveolar process

73. On what part of the maxilla is the conchal crest located?

1. On the nasal surface of the body

2. On the nasal surface of the frontal process

3. On the anterior surface of the body

4. On the infratemporal surface of the body

74. On what part of the maxilla is the ethmoidal crest located?

1. On the nasal surface of the frontal process

2. On the nasal surface of the body

3. On the anterior surface of the body

4. On the infratemporal surface of the body

75. Between what bones is jugular foramen located?

1. Between temporal and occipital

2. Between temporal and spenoid

3. Between temporal and frontal

4. Between temporal and parietal

76. Between what bones is  foramen lacerum located?

1. Between temporal and spenoid

2. Between temporal and frontal

3. Between temporal and parietal

4. Between temporal and occipital

77. Where is foramen lacerum located?

1. Between apex of the temporal pyramid and sphenoid body

2. Between apex of the temporal pyramid and greater sphenoid wing

3. Between apex of the temporal pyramid and occipital bone

4. Between apex of the temporal pyramid and its squama

78. Name the small bones of the facial skull:

1.Lacrimal, nasal, inferior nasal concha, vomer

2.Lacrimal, nasal, inferior nasal concha, zygomatic

3.Lacrimal, nasal, inferior nasal concha, palate

4.Lacrimal, nasal, inferior nasal concha, ethmoid

79. Name the processes of the ethmoid bone:

1. Superior nasal concha, middle nasal concha, uncinate process

2. Superior nasal concha, middle nasal concha, inferior nasal concha

3. Superior nasal concha, inferior nasal concha, uncinate process

4. Superior nasal concha, middle nasal concha, posterior nasal concha

80. How many groups of the air cells does the ethmoid bone have?

1.3

2.2

3.4

4.5

ARTROLOGY

1. Between which bones of skull is anterior fontanelle located?

1. Between parietals and frontal.
2. Between sphenoid and temporal.


3. Between frontal and temporal.


4. Between parietal and ethmoid.

5. Between temporal and sphenoid.

2. Between which bones of skull is posterior fontanelle located?

1. Between parietals and occipital.
2. Between sphenoid and temporal.


3. Between frontal and temporal.


4. Between parietal and frontal.


5. Between temporal and sphenoid.

3. Name the sutures posed between the bones of cerebral skull?

1. Coronal suture, lambdoid suture, sagittal suture. 

2. Coronal suture, lambdoid suture, nasofrontal.

3. Lambdoid suture, sagittal suture, nasofrontal.

4. What are fontanells of the skull of new-born?

1. Anterior, posterior, mastoid, sphenoid.

2. Anterior, posterior, parietal, occipital.

3. Jugular, occipital, mastoid, sphenoid

5. Which is type of the sternoclavicular joint?

1. Saddle.

2. Plane.

3. Ball and socket.

4. Hinge.

6. Which is type of the acromioclavicular joint?

1. Plane.

2. Saddle.

3. Pivot.

4. Hinge.

7. Which is type of the elbow joint?
1. Hinge.

2. Plane.

3. Pivot.

4. Bail-and-socket.

8. Which is type of the proximal radio-ulnar joint?

1. Pivot.

2. Plane.

3. Ball-and-socket.

4. Hinge.

9. Which is type of the humeroradial articulation?

1. Ball-and-socket.

2. Pivot.

3. Plane.

4. Hinge.

10. Which is type of the wrist joint?

1. Ellipsoid.

2. Plane.

3. Hinge.

4. Pivot

11. Which is type of the carpometacarpal joint of the thumb?

1. Saddle.

2. Pivot.

3. Plane.

4. Ellipsoid.

12. Which is type of the mediocarpal joints?

1. Compound.

2. Simple.

3. Complex.

4. Combined.
13. What is type of the metacarpo-phalangeal joints?

1. Simple.

2. Compound.

3. Complex.

4. Combined.

14. Which of the following joints are uniaxial?

1. Hinge, pivot.

2. Ball-and-socket, ellipsoid.

3. Plane , condyloid.

4. Compound ,hinge.

5. Complex ,pivot.

15. Which of the following joints are biaxial?

1. Ellipsoid, condyloid, saddle.

2. Ellipsoid, ball-and-socket.

3. Pivot, hinge.

16. Which of the following joints are condyloid?

1. Knee joint.

2. Radiocarpai.

3. Humeroulnar

4. Humeroradial.

17. Which of the following joints are hinge?

1. Humeroulnar.

2. Radiocarpal.

3. Knee joint.

4. Humeroradial.

18. Which of the following joints are trochoid?

1. Proximal  radio-ulnar.

2. Humeroradial.

3. Humeroulnar.

4. Tarsometatarsal.

19. Which of the following joints are ball-and-socket?

1. Humeroradial, shoulder joint.

2. Elbow joint, humeroulnar.

3. Lateral atlantoaxial joint.

20. What are the characteristic features of synovial joint?

1. Articular surfaces, fibrous capsule, articular cavity.

2. Articular surfaces, cartilaginous lip.

3. Articular surfaces, articular disc.

21. How are joints classified according to their structure?

1. Fibrous, cartilagenous, synovial joints.

2. Fibrous, cartilagenous joint, interosseous membrane.

3. Freely movable, slightly movable, immovable.

22. Which is type of the proximal radioulnar joints?

1. Pivot joint, type of synovial joint.

2. Pivot joint, syndesmoses.

4. Pivot joint, trochoid joint.

23. Name the ligaments of the wrist joint.

1. Radiocarpale dorsale and palmare, ulnar and radial collateral ligaments.

2. Ulnar collateral ligament, arcuate ligament.

3. Radial collator ligament, radioulnar ligament.

24. Inversion of the foot is the movement so that the sole faces:

1. Medially.

2. Downward and posteriorly.

3. Laterally.

4. Downward.

5. Downward and laterally.

25. What are the movements of elbow joint?

1. Flexion, extension.

2. Adduction.

3. Supination.

4. Rotation.

26. Where.are  hyaline cartilages present?

1. Cover the articular surfaces of the synovial joints 

2.Found in the intraarticular discs.

3.Found in the intervertebral discs. 
27. Why the shoulder joint is a weak joint?

1. The glenoid cavity is shallow and small, head of humerus is larger than glenoid cavity.

2. The glenoid cavity is deep and large, head of humerus is larger than glenoid cavity

28. Name the ligaments of elbow joint.
1. Ulnar and radial collateral ligaments.

2. Anterior and posterior ligaments.

3. Glenohumeral and ulnar collateral.

4. Anterior and posterior cruciate.

29. What movements are possible around of the sagittal axis?

1. Abduction, adduction.

2. Flexion, extension.

3. Pronation, supination.

4. Rotation.

30. What movements are possible around of the vertical axis?

1. Pronation, supination, rotation.

2. Flexion, extension.

3. Abduction, adduction.

31.  What movements are possible at the knee joint?

1. Flexion, extension, medial and lateral rotations.

2. Abduction, adduction.

3. Pronation, supination.

32. What type of movements are termed "conjunct" rotation at the knee joint?

1. Rotation of knee joint combined with flexion.

2. Rotation of knee joint occurring independently in a partially flexed knee.

33. What are the intraarticular ligaments of the knee joint?

*1. Anterior and posterior cruciate, transverse.

2. Collateral tibial.

3. Collateral fibular

4. Obbique popliteal.

5. Arcuate popliteal.

34. What is the type of the hip joint?

1. Cotyloid (cup-like), synovial.

2. Ball-and-socket, hinge.

3. Biaxial.

4. Saddle.

35. The yellow ligament joins:

1. Vertebral arches.

2. Vertebral body.

3. Transverse processes of the vertebrae in the cervical part.

4. Spinous processes.

5. Transverse processes of the lumbar vertebrae with crista iliaca.

36. The temporomandibular joint is related to the:

1. Complex joint, combined joint.

2. Compound joint, simple joint.

3. Complex joint, simple joint.

4. Complex joint, compound joint.

5. Combined joint, simple joint.

37. The ligaments of the temporo-mandibular joint are:
1. Sphenomandibular, styloman-dibular and lateral ligaments.

2. Anterior and posterior disco-temporal ligaments.

3. Lateral and medial discoman-dibular ligaments.

4. Sphenomandibular and lateral ligaments  

38. The extension at the elbow joint is limited by:

1. The olecranon.

2. The anular ligament of the radius.

3. The articular capsule.

4. The coronoid process of the ulnar.

5. The ulnar collateral ligament.

39. The radiocarpal (wrist) joint is related to:

1. Compound joint.

2. Simple joint.

3. Complex joint.

4. Combined joint.

40.  The radiocarpal  (wrist) joint is related to:

1. Ellipsoid joint.

2. Saddle joint.

3. Spheroid joint.

4. Hinge joint.

5. Pivot joint.

41. The abduction and adduction at the wrist joint are carried by:

1. The anterior radiocarpal ligament.

2. The medical ligament (lig. collaterale carpi ulnare).

3. The lateral ligament (lig. collaterale carpi radiale).

4. The posterior radiocarpal ligament.

5. The interosseous membrane of the forearm.

42. Which motions are possible in the proximal and distal radioulnar joints?

1. The pronation, the supination.

2. The pronation, the abduction.

3. The adduction, the abduction.

4. The circumduction.

43. The II-V carpometacarpal joints are related to:
1. The plane joints.

2. The ellipsoid joints.

3. The saddle joints.

4. The hinge joints.

5. The condyloid joints.

44. In which condition the extra-motions are possible in the talocrural joint to side?

1. In the plantar flexion.

2. In the dorsiflexion.

3. In the support on the heel.

4. In the flexion at the knee joint.

5. In the support on the toes.

45. What is type of the talocrural joint ?

1. The hinge joint

2. The condyloid joint

3. The saddle joint

4. The ball-and-socket joint

5. The ellipsoid joint   

46. How many longitudinal arches are distinguished in the whole arched structure of the foot?

1. Five

2. One

3. Two

4. Three

5. Four

47. Shape of the temporomandibular joint is:

1. Condyloid

2. Ellipsoid

3. Hinge

4. Trochoid

5. Saddle

48. Articular surfaces of the temporomandibular joint are:

1. Mandibular fossa of the temporal bone and head of the mandibule

2. Coronoid process of the mandibule and mandibular fossa of the temporal bone

3. Neck of the mandibule and mandibular fossa of the temporal bone

49. Name the main ligament of the temporomandibular joint:

1. Lateral ligament

2. Sphenomandibular ligament

3. Stylomandibular ligament

50. What ribs articulate with the sternum by synchondrosis?

1. 1-st ribs

2. 2-nd ribs

3. 5-th ribs

4. 7-th ribs

51. Which ribs form sternocostal joints?

1. 2 – 7  ribs

2. 1 – 7  ribs

3. 3 – 5  ribs

4. 2 – 6 ribs

52. Joints between ribs and vertebrae are:

1. Trochoid 

2. Hinge 

3. Plane

4. Ellipsoid

5. Saddle

53. What is shape of the sternoclavicular joint?

1. Saddle 

2. Plane 

3. Ellipsoid

4. Hinge

5. Trochoid

54. What is shape of the distal radioulnar joint?

1. Trochoid 

2. Saddle 

3. Ellipsoid

4. Hinge

5. Plane

55. What is shape of the shoulder joint?

1. Ball-and-socket

2. Cotyloid

3. Saddle 

4. Ellipsoid  

56. Due to presence of which cartilage the shoulder joint is complex?

1. Cartilaginous lip

2. Cartilaginous disk

3. Cartilaginous meniscus

57. Name the type of the intermetacarpal joints:

*1. Plane, amphiarthroses

2. Plane, mobile

3. Ellipsoid, immovable

4. Trochoid, mobile

58. What are shape of the metacarpophalangeal joints?

1. Ellipsoid

2. Trochoid 

3. Hinge

4. Plane

59. What are shape of the interphalangeal joints?

1. Hinge 

2. Trochoid 

3. Ellipsoid

4. Plane

60. The pubic symphysis is related to following bone articulations:

1. Hemiarthroses

2. Synarthroses

3. Diarthroses

61. What is type of the knee joint?

1. Compound, complex, condyloid

2. Compound, complex, ellipsoid

3. Compound, complex, hinge

4. Compound, complex, cotyloid

62. How many synovial bursae are in the knee joint?

1. 7

2. 8

3. 5

4. 6

5. 4

67. Which articulation is between proximal ends of the leg’s bones?

1. Tibiofibular joint

2. Tibiofibular hemiarthrosis

3. Tibiofibular syndesmosis

4. Tibiofibular synchondrosis

68. Which articulation is between distal ends of the leg’s bones?

1. Tibiofibular syndesmosis 

2. Tibiofibular synchondrosis 

3. Tibiofibular joint

4. Tibiofibular hemiarthrosis

69. Shape of the subtalar joint is:

1. Trochoid 

2. Ellipsoid

3. Hinge

4. Saddle

70. Shape of the talocalcaneonavicular  joint is:

1. Ball-and-socket

2. Cup-like

3. Plane 

4. Ellipsoid

71. Shape of the calcaneocuboid  joint is:

1. Saddle

2. Ball-and-socket 

3. Ellipsoid  

4. Hinge 

72. Chopar’s joint is formed by:

1. Talocalcaneonavicular and calcaneocuboid joints

2. Talocalcaneonavicular and cuneonavicular joints

73. What ligament is “key” to the Chopar’s joint?

1. Bifurcate ligament

2. Calcaneonavicular ligament

3. Talonavicular ligament

74. What joints are named as Lisfranc’s joint?

1. Tarsometatarsal joints

2. Intertarsal joints

3. Metatarsophalangeal jonts

75. Shapes of the metatarsophalangeal jonts are:

1. Ball-and-socket  

2. Ellipsoid

3. Condyloid

4. Cotyloid

MYOLOGY

1. Erector muscle of spine consists of:

1. Iliocostal, longissimus, spinalis m.m.

2. Splenius mm. of head and neck.

3. Spinalis, semispinal m.m.

4. Rotator m.m.

2. Lateral displacement of the mandible is realized by contraction of:

1. Lateral pterygoid m.

2. Masseter m.

3. Temporal m.

4. Medial pterygoid m.

5. Sternocleidomastoid m.

3. What muscles of the facial expression have fascia?

1. Buccinator (cheek) m.

2. Epicraniusl m.

3. Depressor m. of the mouth angle .

4. Risorius m.

5. Zygomatic m.m.

4. The main muscle of the laugh is:

1. Greater zygomatic m.

2. Smaller zygomatic m.

3. Levator m. of upper lip.

4. Risorius m.

5. Procerus m.

5. What fascia of the neck covers deep muscles?

1. Prevertebral layer of cervical fascia.

2. Superficial layer of cervical fascia.

3. Profundus layer of cervical fascia.

4. Pretracheal layer of cervical fascia.

5. Retrovisceral layer of cervical fascia.

6. What are the boundaries of interscalene space?

1. Anterior and middle scalene m.m.

2. Anterior and posterior scalene m.m.

3. Middle and posterior sclene m.m.

4. All scalene m.m.

7. What muscles elevate the ribs?

1. External intercostal.

2. Internal intercostal.

3. Subclavius.

4. Subcostal.

5. Transversus thoracis.

8. What muscles lower the ribs?

1. Internal intercostals, subcostal,  transversus thoracis.

2. External intercostals, subcostal,  transversus thoracis

3. Subclavius, subcostal,.

9. Which muscle is the main flexor of the vertebral column?

1. Rectus m. of abdomen.

2. Qudratus lumborum m.

3. External oblique m.

4. Internal oblique m.

5. Transversus abdominis m.

10. Which openings does the inguinal canal have?

1. Superficial, deep.

2. Superior, inferior.

3. Anterior, posterior.

4. Superior, profundus.

5. Anterior, inferior.

11. Which structures form the lower wall of the inguinal canal?

1. Inguinal ligament.

2. Internal oblique m.

3. Ilioinguinal ligament.

4. Lacunar ligament.

5. Transvers ligament.

12. Which structures form the anterior wall of inguinal canal?

1. Aponeurosis of external oblique.

2. Aponeurosis of internal oblique.

3. Aponeurosis of trunsversus m. of abdomen.

4. Inguinal ligament.

13. Which structures form the posterior wall of inguinal canal?

1. Transversus fascia.

2. Aponeurosis of external oblique.

3. Aponeurosis of internal oblique.

4. Aponeurosis of transversus m. of abdomen.

14. Which structure corresponds to the deep inguinal ring?

1. Lateral inguinal fossa.

2. Supravesical fossa.

3. Medial inguinal fossa.

4. Umbilical fossa.

15. The superficial inguinal ring is located  opposite to:

1. Medial inguinal fossa.

2. Supravesical fossa.

3. Lateral inguinal fossa.

4. Umbilical fossa.

16. Aponeurosis of what muscles form the anterior wall of the sheath of rectus abdominis muscle above navel?

1. External oblique, half of internal oblique.mm.

2. Internal oblique m...

3. Transversus m..

4. Quadratus lumborum.m.

5. Rectus m.

17. What muscles rotate the trunk on the same side of contraction?

1. Internal oblique m..

2. Rectus m..

3. Transversus m. .

4. Quadratus lumborum m. 

5. External oblique.m.

18. What muscles contract on the opposite side to which the trunk is

rotated?

1. External oblique m.

2. Internal oblique m..

3. Rectus m. .

4. Transversus m..

5. Quadratus lumborum m..

19. What muscles form the anterior abdominal wall?

1. Rectus, pyramidalis mm..

2. Rectus m.

3. Transversus m..

4. Quadratus lumborum m..

5. External oblique m..

20. Which of the neck muscles take part in the inspiration (inhalation)?

1. Scalene m.m.

2. Long muscles of the head.

3. Frontal and lateral muscles of the neck.

4. Sternohyoid, sternothyoid mm..

5. Each of the mentioned  muscles. 21. In which triangle is Pirogov's triangle located?
1. Submandibular.

2. Carotic triangle.

3. Omoclavicular.

4. Omotracheal.

22. What are actions of the sternocleidomastoid m. while one muscle contracts?

1. Bend neck part of the spine in its direction and at the same time raised the head turning the face at the opposite side.

2. Bend neck part of the spine in the opposite direction.

3. Bend neck part of the spine in its direction and at the same

time lower the head turning the face at its side.

4. Bend neck part of the spine back-wards.

23. Which muscles pull down the lower jaw with fixed hyoid bone?

1. Mylohyoid, digastric, geniohyoid.

2. Mylohyoid, stylohyoid, digastric.

3. Mylohyoid, thyrohyoid, digastric.

4. Digastric, stylohyoid.

24. Which muscles form the muscular basis of the oral cavity diaphragm?

1. Mylohyoid mm..

2. Geniohyoid mm..

3. Geniohyoid, digastrics mm..

4. Stylohyoid mm..

25. Point  of the insertion of the anterior scalenus m.?

1. On tubercul of the first rib, in the front of the sulcus of subclavian

artery.

2. On the first rib, behind of the sulcus of subclavian artery.

3. On the tubercul of the first rib, behind of the sulcus of subclavian

artery.

4. On the head of the second rib.

26. What is the action of splenius capitis and cervicis muscles during their bilateral contractions?
1. Bend  the head and neck backwards.

2. The head turns in its direction.

3. The head turns in opposite direction.

4. Hold the neck erect.

27. What are the boundaries of the carotid triangle?

1. Posterior belly of digastric, superior belly of omohyoid,

sternocleidomastoid m.m.

2. Anterior belly of digastric, omohyoid, mylohyoid m.m.

3. Anterior belly of digastric, inferior belly of omohyoid,

sternocleidomastoid m.m.

28. What are the boundaries of the submandibular triangle?

1. Mandible, two bellies of digastric  m..

2. Anterior belly of digastric  m., mylohyoid m., mandible.

3. Posterior belly of digastric  m., superior belly of omohyoid  m., mandible.

4. Posterior and anterior bellies of digastric  m., mandible.

29. What muscles are inserted to the crest of lesser tubercle of the

humerus?

1. Latissimus dorsi.

2. Trapezius.

3. Pectoralis major.

4. Pectoralis minor.

5. Rhomboid major and minor.

30. What muscles are inserted to the crest of the greater tubercle of the humerus?

1. Pectoralis major.

2. Pectoralis minor.

3. Rhomboid major and minor.

4. Trapezius.

5. Latissimus dorsi.

31. Where is insertion of internal abdominis muscle?

1. Inferior margins of the three lower ribs.

2. Iliac crest, pubic tubercle.

3. Xiphoid process of sternum.

4. Arch of rib.

32. Where is tranversus abdominis muscle originated?

1. Internal lip of iliac crest, inner surface of six lower ribs,

thoracolumbar fascia, lateral 2/3 of inguinal ligament.

2. Inner surface of three lower ribs, lumbal fascia.

3. Iliac crest, lumbal fascia.

4. Inner lip of iliac crest, three lower ribs.

33. Where is the inferior angle of scapula displaced, if the inferior

fibres of trapezius muscle contract?

1. Downward and to the medial side.

2. Back and downward.

3. Forward, and to the lateral side.

4. Upward, and to the lateral side.

34. Where is the head displaced ,if the fibres of trapezius muscle

contract?

1. Backward.

2. Forward.

3. To the lateral side.

4. To the right.

35. Where are insertions of rhomboid major and minor muscles located?

1. Medial border of scapula.

2. Acromial end of clavicle, inferior angle of scapula.

3. To the 2-6 ribs.

4. Lateral border of scapula.

36. Between what plates of neck’s fascia is the suprasternal space situated?

1. Between superficial and deep plates of the pretracheal fascia.

2. Between endocervical and prevertebral fascia.

3. Between pretrachealis and previsceralis plate.

37. Between what structures of the neck is the previsceral space situated?

1. Pretrachealis fascia and trachea.

2. Superficial and pretrachealis fascia.

3. Superficial and prevertebralis fascia.

4. Pharynx and prevertebralis fascia.

38. Between what structures of the neck is the retrovisceral space situated?

1. Pharynx and prevertebralis fascia.

2. Superficial and pretrachealis fascia.

3. Pretrachealis fascia and trachea.

4. Prevertebralis.

39. What is the insertion of muscular  fibres of diaphragm?

1. Central tendon.

2. Lower six ribs.

3. Lumbar vertebra.

4. Sternum, angle of ribs.

40. Where is the origin of diaphragm located?

1. Xiphoid process, lower six ribs, lumbar vertebra.

2. Central tendon.

3. Sacral vertebra, lower five ribs, sternum.

41. Name the infrahyoid muscles.
1. Sternohyoid, sternothyroid, thyrohoid, omohyoid.

2. Sternohyoid, sternothyroid, thyrohoid, mylohyoid.

3. Sternohyoid, sternothyroid, thyrohoid, digastric.

4. Sternohyoid, sternothyroid, thyrohoid, geniohyoid.

42. Name the suprahyoid muscles.

1. Mylohyoid, digastric, stylohyoid, geniohyoid.

2. Mylohyoid, digastric, sternohyoid, geniohyoid.

3. Omohyoid, digastric, sternohyoid, geniohyoid.

4. Sternothyroid, digastric, sternohyoid, geniohyoid.

43. What is the action of the pyramidalis muscle?

1. It tenses the linea alba.

2. It is accessory muscle of expiration.

3. It is accessory muscle of inspiration.

4. It compresses abdominal contents.

44. What is  the action of the transversus abdominis muscle?

1. It  compresses abdominal contents.

2. It is accessory muscle of expiration.

3. It flexes vertebral column.

4. It assists in forced expiration.

45. Which structure forms the 

posterior wall of the rectus m.

sheath  4-5 cm below the navel?
1. Transversalis fascia.

2. Transversus abdominis m.

3. External oblique  abdominis m.

4. Internal oblique  abdominis m.

5. Conjoint  tendon.

46. Where is foramen vena cavae located in the diaphragm?

1. At the level of the Th8 vertebra in the central tendon.

2. Anterior to the body of the Th12 vertebra between crura.

3. At the level Th10  vertebra in a sling of muscle fibres derived from the right crus.

47. Where is aortic opening 

located in the diaphragm?

1. Anterior to the body of the Th12 vertebra between crura of the diaphragm.

2. At the level Th10 vertebra in a sling of muscle fibres derived from the right crus.

3. At the level of the Th8  vertebra in the central tendon.

48. Where is oesophageal opening

located in the diaphragm?

1. At the level Th10  vertebra between the muscular fibers of the lumbar part of the diaphragm. 

2. Anterior to the body of the Th12 vertebra between crura.

3. At the level Th11  vertebra in a sling of muscle fibres derived from the right crus.

49. What is the action of the diaphragm?

1. Pulls down its central tendon,. takes part in inspiration (inhalation)

2. Pulls down its central tendon,

takes part in  expiration.

3. Supports abdominal contents.

50. What is the origin of external intercostal muscle?

1. Lower border of the rib.

2. Upper border of the rib.

3. Middle part of the rib.

51. In what part of the intercostal spaces are the external  intercostal muscles located?

1. From the spine to the costal cartilages.

2. From the lateral margin of the sternum to the angles of the ribs.

52. In what part of the intercostal spaces are the internal intercostal muscles located?
1. From the lateral margin of the sternum to the angles of the ribs.

2. From the tubercle of rib  to its costochondral junction.

53. What is the direction of bundles of the external oblique abdominis muscle?
1. Obliquely downward and forward.

2. Longitudinal bundles running verticaly.

3. Fibres run upward.

4. Fibres run horizontally forward and medially.

54. What are the boundaries of 

pectoral triangle?

1. Upper and lower border of pectoralis minor m.

2. Upper border of pectoralis major m. and clavicle.

3. Upper border of pectoralis minor m. and clavicle.

55. What parts of the diaphragm

are the weakest?

1. Sternocostal and lumbocostal triangles.

2. Lumbar and costal parts.

3. Sternal parts.

4. Lumbal, sternocostal triangle.

56. Which muscles protrude the mandible?

1. Lateral pterygoid mm..

2. Medial pterygoid mm..

3. Deep part of masseter mm..

4. Horizontal fibres of temporalis mm..

57. Quadrangular opening is 
situated in the:

1. Back wall of axillary fossa.

2. Lumbar region.

3. Femur front surface.

4. Diaphragm.

5. Popliteal fossa.

58. What muscles restrict triangular opening?
1. Subscapular muscle, teres major muscle, triceps muscle of arm (long head).

2. Triceps muscle of arm, trapezoid muscle.

3. Serratus anterior muscle, pectoral minor muscle, pectoral major muscle.

4. Brachial muscle, brachioradial muscle, biceps muscle of arm.

5. Anconeus muscle, biceps muscle of arm (short head).

59. What canal is situated on an arm?

1. Radial nerve canal.

2. Medial.

3. Metacarpal canal.

4. Inguinal canal.

5. Abductor canal.

60. What muscles abduct an arm?

1. Deltoid and supraspinous mm.

2. Deltoid and trapezoid mm.

3. Deltoid and coracobracial mm.

4. Teres minor and teres major mm.

61. What muscles pronate a forearm?
1. Pronator quadratus and pronator teres mm.

2. Flexor carpiradialis m. and flexor carpi ulnaris m.

3. Biceps m. of arm.

4. Pronator teres m. and pronator anconeus m.

62. What muscles adduct 2,4,5 fingers to middle finger?

1. Palmar interosseous mm.

2. Lumbrical mm.

3. Dorsal and palmar interesseous mm.

4. Dorsal interosseous mm.

5. Dorsal interosseous and lumbrical mm.

63. What muscles abduct 2, 4, 5, fingers from the 3 finger?

1. Dorsal interosseous mm. 

2. Lumbrical mm.

3. Dorsal and palmar dorsal interosseous mm.

4. Palmar mm.

5. Dorsal interosseous and lumbrical mm.

64. What formation corresponds to external foramen of the femoral canal?

1. Saphenous opening.

2. Vacular part

3. Tendinous opening.

4. Femoral ring.

5. Muscular part.

65. What muscles adduct femur?

1. Adductor magnus, brevis and longus muscles, pectineal m.

2. Adductor magnus m., adductor, adductor brevis m., adductor longus m., gemellus muscles.

3. Adductor magnus, brevis and longus muscles, piriform m.

4. Gluteus medius m., gluteus minimus m.

5. Piriform m., gemellus m., iliopsoas m.

66. What formations are the walls of cruropopliteal canal?
1. Posterior tibial m., soleus m.

2. Long flexor muscle of great toe.

3. Fibula.

4. Fibrosus crural septum.

67. What formations are the walls of musculofibularis canal?

1. Fibula, flexor hallucis longus muscle, posterior tibial m.

2. Fibula, long peroneal muscle.

3. Fibrasus crural septum.

68. The muscles of arm are subdivided into the following groups:

1. Anterior and posterior.

2. Anterior, posterior and lateral.

3. Anterior, posterior and medial.

4. Profound and superficial.

5. Superficial, middle and profound.

69. What muscles are related to the anterior group of the arm?

1. M. brahialis, m. biceps brahii, m. coracobrahialis.

2. M. triceps brahii, m. brahialis, m. anconeus.

3. M. biceps brahii, m. brahialis, m. anconeus.

4. M. coracobrahialis, m.anconeus, m. biceps brahii.

5. M. biceps brahii, m. triceps brahii.

70. What structures form anterior wall of the canalis n. radialis?
1. Os humerus.

2. M. biceps brachii.

3. Os ulna.

4. M. triceps brachii.

5. M. coracobrachialis.

71. What structures form  posterior wall of the canalis n.radialis?

1. M. triceps brachii.

2. M. biceps brachii.

3. Os radii.

4. M. coracobrachiatis.

5. Os humeri.

72. What muscles bend(flex) forearm?

1. M. biceps brachii, m. brachialis.

2. M. coracobrachialis.

3. M. coracobrachialis, m. brachialis.

4. Caput longum m.triceps brachii.

73. What formations lies in the canalis carpi radialis?

1. Tendon m. flexor carpi radialis.

2. N. ulnaris.

3. N. radialis.

4. A. ulnans.

5. Tendon m. flexor carpi ulnaris.

74. What muscle forms bottom of cubital fossa?

1. M. brachialis.

2. M. brachioradialis.

3. M. pronator teres.

4. M. anconeus.

75. What muscle abducts arm?

1. M. deltoideus.

2. M. latissimus dorsi.

3. M. pectoralis major.

4. M. biceps brachii.

5. M. triceps brachii.

76. What muscle adducts arm?

1. M. pectoralis major.

2. M. deltoideus.

3. M. supraspinatus.

4. M. triceps brachii.

77. What muscle passes through lacuna musculorum?

1. M. iliopsoas.

2. M. pectineus.

3. M. gluteus maximus.

4. A. and v. femoralis.

78. What muscle passes through foramen ischiadicum minor?

1. M. obturatorius internus.

2. M. pectineus.

3. M. iliopsoas.

4. M. piriformis.

5. M. obturatorius externus.

79. What muscle passes through foramen ischiadicus major?

1. M. piriformis.

2. M. iliopsoas.

3. M. pectineus.

4. M. internus.

5. M. obturatorius externus.

80. What is muscle of the thigh’s posterior group?

1. M. semitendinosus.

2. M. quadriceps femoris.

3. M. gracialis

4. M. adductor longus.

5. M. pectineus.

81. What is muscle of the thigh’s medial group?

1. M. gracialis.

2. M. semitendinosus.

3. M. semimembranosus.

4. M.  biceps femoris.

5. M. quadriceps femoris.

82. What structure restricts femoral triangle from medial side?

1. M. adductor longus.

2. M. sartorius.

3. Lig. inguinale.

4. Lig. pectineale. 

83. What formation forms the internal  foramen of the femoral canal?

1. Anulus femoralis.

2. Lacuna vasorum.

3. Lacuna musculorum.

4. Anulus inguinalis superficialis.

5. Hiatus saphenus.

84. What muscles realize flexing of the knee joint?

1. Muscles of femur (posterior group).

2. Muscles of femur (anterior group).

3. Muscles of femur (medial group).

4. Muscles of femur (lateral group).

85. To what  does m. triceps brachii insert?

1. Olecranon.

2. Acromion.

3. Tuberositas radii.

4. Tuberositas ulnae.

86. What muscles restrict sulcus bicipitalis lateralis?

1. M. biceps brachii and m. brachialis on lateral side of the arm.

2. M. biceps brachii and m. brachialis on medial side of the arm.

3. M. biceps brachii and m. anconeus.

4. M. triceps brachii and m. brachialis.

87. What structures restrict sulcus bicipitalis medialis?

*1. M. biceps brachii and m. brachialis on the  medial arm’s side. 

2. M. triceps brachii and m.brachialis.

3. M. biceps brachii and m. brachialis on the lateral arm’s side.

4. M. biceps brachii and m.anconeus.

88. From what  does the long head of m. triceps brachii begin? 

1. From tuberculum infraglenoidale.

2. From tuberculum supraglenoidale.

3. From processus coracoideus.

4. From acromion.

89. From what  do the most of  flexors  muscles of the forearm begin?

1. From epicondilus medialis humerus.

2. From epicondilus lateralis humerus.

3. From tuberositas deltoideae.

4. From tuberositas radii.

90. To what formation does m. biceps brachii insert?

1. Tuberositas radii.

2. Olecranon.

3. Tuberositas deltoidea.

4. Tuberositas ulnae.

91. Name the muscles of the arm’s posterior group :

1. M. triceps brachii m. anconeus.

2. M. biceps brachii m. anconeus.

3. M. triceps brachii m. coracobrachialis.

4. M. triceps brachii m. brachialis.

92. Name the muscles of the shoulder girdle:
1. M. deltoideus, m. supraspinatus, m. infraspinatus, m. subscapularis.

2. M. deltoideus, m. supraspinatus, m. brachialis.

3. M. anconeus, m. infraspinatus, m. subscapulans.

93. Name the antogonist of m gluteus maximus:
1. M. iliopsoas.

2. M. psoas major.

3. M. iliacus.

4. M. psoas minor.

94. Name the action of m. quadriceps femoris:

1. Extension of the leg in knee joint.

2. Flexion in knee joint.

3. Rotate the shin inward.

4. All named functions.

95. What structures bound superior musculoperoneal canal?

1. Fibula and m.peroneus longus.

2. Fibula and m.flexor hallucis longus.

3. Fibula and m.flexor digitorum longus.

4. Fibula and m.peroneus brevis.

96. What structures bound fossa poplitea?

1. M. biceps femoris and facies poplitea femoris, m. semitendinosus and semimembranosus, m. gastro-cnemius: caput laterale and mediale.

2. M. biceps femoris, mm. semimem-branosus and semitendinosus.

3. M. soleus, mm. semimembranosus and semitendinosus

4. M. quadriceps femoris, m. gastro-cnemius: caput laterale and mediale.

97. What muscles form sulcus femoralis anterior?

1. M. vastus medialis, mm. adductores longus and magnus.

2. M. vastus lateralis, m. adductor magnus.

3. M. vastus intermedius, m. adductor longus.

4. M. adductor longus and m. adductor brevis.

98. What muscles form adductor canal?

1. M. vastus medialis. m. adductor magnus and lamina vastoadductoria.

2. M. rectus femoris, m. adductor magnus and lamina cribrosa.

3. M. vastus intermedius, m. adductor  longus and fascia lata

4. M. vastus lateralis, m. vastus medialis and tractus iliotibialis

99. What structures form posterior wall of femoral canal?

1. Deep lamina of fascia lata femoris.

2. Superior horn of falciform margin.

3. Femoral vessels.

4. Lacunar ligament.

100. Name the functions of m. peroneus longus and m. peroneus brevis.
1. Pronation of foot, elevate lateral margin of foot.

2. Depress medial margin of foot.

3. Abduction of foot.

4. Plantar flexion of foot.

101. What muscles bound sulcus plantaris medialis?

1. M. flexor digitorum brevis and m. abductor hallucis. 

2. M. flexor digitorum brevis, m. adductor hallucis.

3. M. abductor hallucis, m. flexor hallucis brevis.

4. M. flexor digitorum brevis, m. abductor digiti minimi.

102. Name the anterior muscle of the leg.

1. M. extensor digitorum longus.

2. M. peroneus longus.

3. M. gastrocnemius.

4. M. soleus.

103. Name the posterior muscle of the leg.

1. M. triceps surae.

2. M. peroneus longus.

3. M. tibialis anterior.

4. M. extensor digitorum longus. 

104. What structures bound exit opening of femoral canal?

1. Margo falciformis and its superior and inferior cornua(horns). 

2. Margo falciformis and its cornua superius.

3. Margo falciformis and its cornua infenus.

4. Ligg. inguinale and lacunare.

105. Between what muscles is sulcus iliopectineus situated?
1. M. iliopsoas and m. pectineus.

2. M. iliopsoas and m. adductor magnus.

3. M. iliopsoas and m. rectus femoris.

4. M. iliopsoas and m. gracilis. 

5. M. iliopsoas and m. piriformis.

106. What structures bound femoral triangle?

1. Lig. inguinale, m. adductor longus and m. sartorius. 
2. Lig. inguinale, m. adductor magnus and m. sartorius.

3. Lig. inguinale, m. gracilis and m. sartorius. 

4. Lig.inguinale, m. iliopsoas and m. pectineus.

107. What structures bound entrance opening of femoral canal?

1. Femoral vein, lig. inguinale, lig. lacunare and lig. pectineale.

2. Femoral vein, femoral artery, anulus femoralis.

3. Femoral vein, iliopectineal arch, lacuna musculorum.

4. Femoral vein, subcutaneous vein, n. obturatorius.

108. What structures form anterior wall of femoral canal?

1. Lig. inguinale and cornu superius of falciform margin of fascia lata.

2. Pectineal fascia and septum femorale.

3. Inferior horn of superficial sheeth of wide fascia and v. femoralis.

109. What structure forms  lateral wall of femoral canal?

1. Femoral vein.

2. Lacunar ligament.

3. Superior horn of falciform margin.

4. Iliopectineal arch.

110. What muscles carry out flexion in the knee joint?

1. M. semimembranosus and m. semitendinosus, m. biceps femoris and m. popliteus.

2. M. adductor longus, m. adductor magnus

3. M. rectus femoris, m. soleus.

4. M. sartorius, m. gracilis and m. gastrocnemius

111. What muscle carries out extension in the knee joint?

1. M. quadriceps femoris.

2. M. sartorius, m. gracilis.

3. M. adductor longus, m. quadratus femoris.

4. M. biceps femoris.

112. What structures form m. triceps surae?

1. M. soleus and mm. gastro-cnemius.

2. M. soleus and m. tibialis anterior.

3. M. soleus and m.tibialis posterior.

3. M. soleus and m. plantaris.

113. Name the muscles of the leg’s anterior group:

1. M. tibialis anterior, m. extensor digitorum longus, m. extensor 

hallucis longus.

2. Mm. peroneus longus and brevis.

3. M. flexor digitorum longus, m. peroneus anterior.

4. M. extensor digitorum brevis. m. extensor hallucis brevis.

114. Name the muscles of the leg’s posterior group :

1. M. gastrocnemius, m. plantaris, m. soleus, m. tibialis posterior,

m. flexor digitorum longus, m. flexor hallucis longus.

2. M. gastrocnemius, m. plantaris, m. tibialis posterior.

3. M. triceps surae, m. flexor digitorum longus, m. tibialis posterior.

4. M. triceps surae, m. flexor digitorum longus.

115. Name the muscles of the leg’s lateral group:

1. M. peroneus longus and m. peroneus brevis.

2. M. peroneus longus, m. tibialis anterior.

3. M. peroneus brevis, m. peroneus tertius.

4. Mm. peronei (all of them).

116. To what formation does triceps of the leg insert?

1. Tuber calcanei.

2. Tuberosity of V-th metatarsus bone.

3. I-st sphenoid and I- st metatarsus bone.

4. Three sphenoid bones and basis of II-V metatarsus bone.

117. By what structures is trigonum clavipectorale bounded?

1. Superior margin of m. pectoralis minor and clavicle.

2. Inferior margin of m. pectoralis major and clavicle.

3. Inferior margin of m. pectoralis minor and clavicle.

4. Superior margin of m. pectoralis minor and inferior margin of

m. pectoralis major.

118. What are situated in lacuna musculorum?

1. M. iliopsoas and n. femoralis.

2. M. iliopsoas, n. femoralis, n. ilioinguinalis.

3. M. iliopsoas, n. femoralis, v. femoralis.

4. M. iliopsoas, a. and v. femoralis.

119. Where is trigonum pectorale located?

1. Under m.pectoralis minor

2. Under m.pectoralis major

3. Under m.subclavius

120. By what muscles is trigonum subpectorale bounded?

1. Inferior margins of m.pectoralis minor and m.pectoralis major

2. Superior margins of m. pectoralis minor and m.pectoralis major

3. Superior margins of m.pectoralis minor and inferior margin of

m.pectoralis major

121. Name the superficial muscles of the chest:

1. Greater and lesser pectoral mm, anterior serrate m, subclavius m.

2. Greater pectoral m., anterior serrate m., posterior serrate m.

3. Greater pectoral m., subclavius m., transversus thoracis m.

122. What are deep chest's muscles?

1. Mm. intercostales externus and internus.

2. Mm. intercostales externus and m.subclavius

3. Mm. intercostales externus and m.serratus anterior

123. What muscles are flexors of the upper arm?

1. Coracobrachial, biceps, brachial muscles.

2. Coracobrachial, biceps, supraspinatus muscles.

3. Coracobrachial, brachial, teres minor muscles.

124. What muscles are located on the posterior surface of the arm?

1. Triceps, anconeus mm.

2. Triceps, brachial mm. 

3. Triceps, deltoid mm.

4. Triceps, brachioradial mm.

125. Abduction of the arm is performed by the contraction of:

1. Deltoid and supraspinatus mm.

2. Deltoid and infraspinatus mm.

3. Deltoid and teres major mm.

4. Deltoid and teres minor mm.

126. Adduction of the arm is performed by the contraction of:

1. Greater pectoral, teres major, lattissimus dorsi mm.

2. Greater pectoral, teres minor, deltoid mm.

3. Greater pectoral, teres major and minor mm.

127. Flexion and medial rotation of the arm are performed by the contraction of:

1. Deltoid, biceps brachii, teres major, subscapular mm.

2. Deltoid, triceps brachii, teres major mm.

3. Deltoid, infraspinatus, teres major, subscapular mm.

128. Flexion of the forearm is performed by the contraction of:

1. Biceps brachii, brachial, brachioradial, round pronator mm.

2. Biceps brachii, coracobrachial, brachial mm.

3. Biceps brachii, brachioradial, coracobrachial mm.

129. Extension of the forearm is performed by the contraction of:

1. Triceps, anconeus mm.

2. Triceps, extensor digitorum mm.

3. Triceps, radial extensor of the wrist mm.

130. Flexion of the thigh is performed by the contraction of:

1. Iliopsoas, rectus femoris, sartorius mm.

2. Iliopsoas, gracilis, sartorius mm.

3. Iliopsoas, biceps femoris, sartorius mm.

131. Flexion of the leg is performed by the contraction of:

1. Semimembramosus, semitendinosus, biceps femoris, popliteus mm.

2. Semimembranosus, rectus femoris, biceps femoris mm.

3. Semimembranosus, quadriceps femoris, biceps femoris mm.

132. Dorsal flexion of the foot is performed by the contraction of:

1. Anterior leg's muscles.

2. Lateral leg's muscles.

3. Posterior leg's muscles.

133. Plantar flexion of the foot is performed by the contraction of:

1. Posterior leg's muscles.

2. Anterior leg's muscles.

3. Lateral leg's muscles.

134. Closing of the mouth is performed by the contraction of:

1. Temporal, masseter, medial pterygoid mm.

2. Temporal, masseter, lateral pterygoid mm.

3. Temporal, masseter, digastric mm.

135. Opening of the mouth is performed by the contraction of:

1. Three suprahyoid mm. of the neck.

2. Two suprahyoid muscles of the neck.

3. One suprahyoid muscles of the neck.

136. Name some superficial anterior muscles of the forearm:

1. M. pronator teres, m. flexor carpi radialis, m. flexor carpi ulnaris.

2. M. pronator teres, m. flexor carpi radialis, m. flexor pollicis longus.

3. M. pronator teres, m. flexor carpi ulnaris, m.pronator quadratus.

137. Name the deep anterior muscles of the forearm:

1. M. pronator quadratus, m. flexor digitorum profundus, m. flexor pollicis 

longus.

2. M. pronator quadratus, m. flexor digitorum profundus, m. flexor carpi ulnaris

3. M. pronator quadrarus, m. flexor digitorum profundus, m. flexor carpi 

radialis

138. Name the muscles of the posterior lateral group of the forearm:

1. M. brachioradialis, mm. extensor carpi radialis longus and brevis.

2. M. extensor digitorum, mm. extensor carpi radialis longus and brevis.

3. M. brachioradialis, mm. extensor carpi ulnaris longus and brevis.

139. Name the superficial posterior muscles of the forearm:

1. M. extensor digitorum, m. extensor digiti minimi, m. extensor carpi ulnaris.

2. M. extensor digitorum, m. extensor digiti minimi, m. extensor carpi radialis.

3. M. extensor digitorum, m. extensor digiti minimi, m. abductor pollicis brevis.

4. M. extensor digitorum, m. extensor digiti minimi, m. extensor pollicis longus.

140 Name the deep posterior ulnar muscles of the forearm:

1. M. abductor pollicis longus, m. extensor pollicis longus and brevis, m. supinator, m. extensor indicis.

2. M. abductor pollicis longus, m. abductor pollicis brevis, m. supinator.

3. M. abductor pollicis longus, m. extensor pollicis longus, m. pronator, m. extensor indicis.

141. What are muscles of the thenar group?

1. M. abductor pollicis brevis, m. flexor pollicis brevis, m. opponens pollicis, m. adductor pollicis.

2. M. abductor pollicis brevis, m. flexor pollicis longus, m. oppones pollicis, m. adductor pollicis.

3. M. abductor pollicis brevis, m. abductor pollicis longus, m.opponens pollicis, m. adductor pollicis.

142. What are muscles of the hypothenar group?

1. M. palmaris brevis, m. abductor digiti minimi, m. flexor digiti minimi, m. opponens digiti minimi.

2. M. palmaris longus, m. abductor digiti minimi, m. flexor digiti minimi, m. opponens digiti minimi.

3. M. palmaris brevis, m. adductor digiti minimi, m. flexor digiti minimi, m. opponens digiti minimi.

143. What are muscles of the hand's hollow?

1. Four mm. lumbricales, three mm. interossei palmares, four mm. interossei dorsales.

2. Four mm. lumbricales, three mm. interossei palmares, three mm. 

interossei dorsales.

3. Four mm. lumbricales, five interossei palmares, two interossei dorsales.

144. How many canals are located under retinaculum flexorum on the palmar surface of the wrist?

1. 3

2. 5

3. 6

4. 4

145. How many canals are located under retinaculum extensorum on the dorsal surface of the wrist joint?

1. 6

2. 5

3. 7

4. 4

146. What forearm's muscles move thumb?

1. M. flexor pollicis longus, m. extensor pollicis longus and brevis.

m. abductor pollicis longus.

2. M. flexor pollicis longus, m. abductor pollicis longus and brevis,

m. extensor pollicis.

3. M. flexor pollicis longus, m. adductor pollicis, m. extensor pollicis 

longus.

147. What is superficial muscle of the back?

1. M. rhomboideus

2. M. erector spinae

3. M. splenius capitis

4. M. serratus anterior

148. What are boundaries of the quadrangular opening?

1. M. teres major, m. subscapularis, long head of the m. triceps brachii,

surgical neck of the humerus.

2. M. teres major, m. subscapularis, short head of the m. triceps brachii, 

surgical neck of the humerus.

3. M. teres major, m. teres minor, long head of the m. triceps brachii,

surgical neck of the humerus.

149. What is muscle of the anterior group of the pelvic girdle?

1. M. iliopsoas

2. M. piriformis

3. M. sartorius

4. M. pectineus

5. M. obturatorius

150. Foramen supraperiforme is bounded by:

1. Upper margin of m. piriformis and incisura ischiadicum major

2. Upper margin of m. piriformis and incisura ishiadicum minor

3. Upper margin of m. piriformis and lig. sacrospinale.

151. Foramen infrapiriforme is bounded by:

1. Lower margin of m. piriformis and lig.sacrospinale

2. Lower margin of m. piriformis and lig. sacrotuberale

3. Lower margin of m. piriformis and incisura ishiadicum minor.

152. What are medial muscles of the thigh?

1. Mm. adductor longus, brevis, magnus, minimus, m. gracilis, m. pectineus.

2. Mm. adductor longus, brevis, magnus, minimus, m. sartorius, m. bicipes.

3. Mm. adductor longus, brevis, magnus, minimus, m. gracilis, m. triceps.

153. What are muscles of the medial plantar group?

1. M. abductor hallucis, m. flexor hallucis brevis, m. adductor hallucis.

2. M. abductor hallucis, m. extensor hallucis brevis, m. adductor hallucis.

3. M. abductor hallucis, m. flexor digitorum, m. adductor hallucis.

154. What are muscles of the lateral plantar group?

1. M. abductor digiti minimi, m. flexor digiti minimi, m. opponens digiti minimi.

2. M. abductor digiti minimi, m. flexor digiti minimi, m. adductor digiti minimi.

3. M. abductor digiti minimi, m. flexor digitorum brevis, m. adductor digiti minimi.

155. What are muscles of the middle group of the sole?

1. M. flexor digitorum brevis, m. quadratus plantae, four mm. lumbricales, seven mm.interossei.

2. M. flexor digitorum brevis, m. quadratus plantae, three mm. lumbricales,seven mm.interossei.

3. M. flexor digitorum brevis, m. quadratus plantae, four mm. lumbricales, six mm. interossei.

156. What is superficial muscle of the back?

1. M. levator scapulae.

2. M. erector spinae.

3. M. pectoralis major.

157. Name superficial chest's muscles.

1. M. pectoralis major, subclavius.

2.M. pectoralis minor, m. transversus thoracis.

3. M. pectoralis major, serratus posterior.

158. What deep muscles of the chest are inspiration muscles?

1. Mm. intercostales externi.

2. Mm. intercostales interni.

3. Mm. subcostales.

4. Mm. transversus thoracis.

159. Anterior wall of the inguinal canal is formed by:

1. Aponeurosis of the external oblique abdominis muscle.

2. Aponeurosis of the internal oblique abdominis muscle.

3. Aponeurosis of the transversus abdominis muscle.

160. Posterior wall of the inguinal canal is formed by:

1. Fascia transversalis.

2. Tunica serosa.

3. Fascia interna.

4. Fascia subserosa.

161. Superior wall of the inguinal canal is formed by:

1. Inferior borders of the internal oblique and transversus mm.

2. Inferior borders of the internal oblique and external oblique mm.

3. Inferior borders of the internal oblique and pyramidalis mm.

4. Inferior borders of the internal oblique and rectus abdominis mm.

162. Inferior wall of the inguinal canal is formed by:

1. Groove of the inguinal ligament.

2. Groove of the ligamentum reflexum.

3. Groove of the lacunar ligament.

163. Aponeurosis of what abdominal muscles form the posterior wall of the sheath

of rectus abdominis muscle above navel?

1. Half of mm. obliques internus abdominis  and m. transversus abdominis.

2. M. obliques externus abdominis and m. obliques internus abdominis.

3. M. obliques externus abdominis and m. transversus abdominis.

164. Posterior wall of the sheath of rectus abdominis muscle 4-5cm below navel is formed by:

1. Fascia transversalis.

2. Aponeurosis of the m. transversus abdominis.

3. Aponeurosis of the m. obliquus internus abdominis.

165. Anterior wall of the sheath of rectus abdominis muscle 4-5cm below navel is formed by:

1. Aponeuroses of three lateral abdominal muscles.

2. Aponeuroses of the two lateral abdominal muscles.

3. Aponeurosis of four lateral abdominal muscles.

167. What muscle forms posterior abdominal wall?

1. M. quadratus lumborum.

2. M. rectus abdominis.

3. M. serratus posterior.

4. M. transversospinalis.

168. What structure passes through male inguinal canal?

1. Spermatic cord.

2. A. testicularis.

3. Spermatic duct.

4. N. testicularis.

169. What structure passes through female inguinal canal?

1. Lig. teres uteri.

2. Uterine tube.

3. Lig. teres ovary.

4. Lig. lata uteri.

170. Where is Pirogov's triangle located?

1. In the inferior angle of the submandibular triangle.

2. In the inferior angle of the carotid triangle.

3. In the inferior angle of the omotracheal triangle.

OSTEOLOGY

1. Three separating bones connected by the cartilage in the area of the pelvis cavity are noticed on the X-ray photo of the newborn’s pelvis. What are these bones?

1. Iliac, pubic, sciatic 

2. Iliac sacral, coccyx

3. Sacral, pubic, coccyx

4. Sciatic, femoral, sacral

5. Pubic, sciatic, femoral

2. A doctor defined sizes of the pelvis of the pregnant woman. He measured the distance between two superior anterior iliac spines. What size of the pelvis was defined?

1. Distantia spinarum.

2. Distantia cristorum.

3. Distantia trochanterica.

4. Conjugata vera.

5. Conjugata anatomica.

3. Which bone is more suitable for the taking of medulla (bone marrow) with the help of syringe for diagnosis of some diseases?

1. Sternum.

2. Humerus.

3. Ribs.

4. Scapula.

5. Vertebrae.

4. An old woman fractured the humeral bone after a fall on ice-covered ground. Which part of the bone is most probably fractured?

1. Surgical neck of humerus.

2. Anatomical neck of humerus.

3. Midlle third of humerus.

4. Inferior third of humerus.

5. Head of humerus.

5. The wounded man has bleeding from branches of carotid artery. For arrest bleeding carotid artery can be compressed againts carotid tubercle of the cervical vertebra. Which cervical vertebra has the carotid tubercle?

1. YI

2. Y

3. IY

4. III

5. II

6. X-ray photo of the patient shows big opening located on the anterior surface of the hip bone between branches of the pubic and ischiadic bones. What is this opening?

1. Obturator foramen.

2. Greater ischiadic foramen.

3. Lesser ischiadic foramen.

7. Victim has elbow joint trauma with avulsion of medial epicondyle of humerus. What nerve can be hurt in this trauma?

1. Ulnar

2. Medial cutaneous nerve of forearm

3. Radial

4. Cardiac cutaneous nerve

5. Musculocutaneous nerve

8. During the football match a player injuried his knee joint. The X-ray examination showed fracture of the bone, which is situated in the tendon’s thick-ness of musculus quadriceps femoris. What of the mentioned groups does this bone belong to?

1. Sesamoid
2. Tubular
3. Flat
4. Hollow
5. Combined

9. A child had fracture

9. A child had a fracture of the humeral bone. After this his arm began to lagging behind in growth. What part of the bone was destroyed?
1. Metaphysis.
2. Epiphysis.
3. Diaphisis.
4. Apophysis.
10. For establishment of the border between cervical and thoracic part of the vertebral column doctor must palpate and find protrude part of the VII cervical vertebra. Name this part?
1. Spinous process.
2. Transverse process.
3. Superior articular process.
4. Inferior articular process.
11. The wounded has bleeding from the branches of the caro-tid artery. For a temporal stop-ping of the bleeding the carotid artery must be pressed to the carotid tubercle of the trans-verse process of vertebra. What cervical vertebra has this process?
1. VI
2. VII
3. V
4. IV
5. III
12. As a result of blow on the lateral surface of the chest on the level of the inferior angle of the scapula a man had multiple fractures of the ribs. What ribs were hurt?
1. VI-VII.
2. VIII-IX.
3. X-XI.
4. XII.
5. I-III.
13. A man had fracture of the lower part of the fibula. Name the site of this fracture.

1. Malleolus lateralis.

2. Maleolus medialis.

3. Neck of the fibula.

4. Body of the fibula.
14.As a result of fall down a women had fracture of the process of the ulna which prevents extension of the elbow joint. Name this process:

1. Olecranon.

2. Coronoid.

3. Medial styloid.

4. Lateral styloid.

15. As a result of trauma a man had fracture of the lower lateral 1/3 of the leg. What bone is fractured?
1. Fibula

2. Tibia

3. Femur

4. Talus

5. Calcaneus

16. As a result of diving an young man hit against the bottom of a lake. After that he had acute pain of the neck, could not turn neck. What bones are injured?
1. Cervical vertebrae
2. Frontal bone
3. Hyoid bone
4. Scapula
5. Clavicula
17. The arches of the III and IV lumbar vertebrae did not fuse in the spine of the child. How is such pathology called?
1. Spina bifida
2. Kyphosis
3. Lordosis
4. Scoliosis
18. During examination of a child a doctor found out the left bend of the thoracic part of the vertebral column. What diagnosis can be put?
1. Left – side thoracic scoliosis

2. Right – side lumbar scoliosis
3. Thoracic lordosis
4. Lumbar kyphosis
19. What curvatures of the vertebral column must be formed by 11,5 months of a child ?
1. Cervical lordosis, thoracic kyphosis, lumbar lordosis, sacrococcygeal kyphosis
2. Cervical lordosis, thoracic lordosis, lumbar kyphosis, sacrococcygeal kyphosis
3. Cervical kyphosis, thoracic lordosis, lumbar kyphosis, sacrococcygeal lordosis
20. The victim has trauma of the internal surface of middle third of the leg. The fracture of what anatomical structure is most credible?

1. Diaphisis of tibia

2. Proximal epiphysis of fibula

3. Distal epiphysis of tibia

4. Proximal epiphysis of tibia

5. Distal epiphysis of fibula

21. A child has spinal hernia at the level of XII thoracic vertebra. What anatomical structure didn’t fuse? 

1. Arch of vertebra

2. Body of vertebra

3. Intervertebral disk

4. Articular processes

5. Spinal process

22. During examination of victim girl doctor found out a bruise of the inferior part of sacral region. What bone is fractured?

1. Coccygeal bone

2. Femur

3. The ischium bone

4. The pubic  bone

5. Sternum

23. The  defect of the spinal column (fissura of right peduncles of the arches of I-II thoracic vertebrae) was determined after X-ray exami-nation. What can be diagnosed at patient?

1. Spina bifida

2. Fracture of skull’s base

3. Thoracic kyphosis

4. Thoracic lordosis

5. Fracture of arches of I-II thoracic vertebrae

24. As result of trauma a child has bruise on the left side of chest, painfulness during pal-pation and crepitation at the left side of chest. What bones can be injured?

1. Ribs

2. Thoracic vertebrae

3. Clavicula

4. Scapula

5. Sternum

25. A patient has flat chest (small chest’s circumference). For what type of body constitution is such form characteristic?

1. Dolichomorphic

2. Brachyomorphic

3. Mesomorphic

4. Dolichocephalic

5. Brachycephalic

26. Victim has deformation in the middle third of lateral surface of the left leg. The ends of trihedral bone are visible from wound. What bone can be fractured? 

1. Fibula  

2. Tibia

3. Femur

4. Patella

5. Talus

27. Old man had fracture of femur. Name the most credible site of fracture:

1. Neck of the femur

2. Upper third of the femur

3. Lower third of the femur

4. Condulus of the femur

5. Diaphisis of the femur

28. Three parts of hip bone separated by wide gaps are visible on roentgenogram. What age is it characteristic for?

1. To 16 years

2. To 36 years

3. To 46 years

4. To 40 years

5. To 50 years

29. Fractures often occur in the region of surgical neck of a bone. What bone does surgical neck have?

1. Humerus

2. Radius

3. Femur

4. Fibula

5. Ulna

30. During basketball match a player injured his hand in the carpal region. The X-ray examination showed fracture of the bone located in the tendon of one flexor muscle of the forearm. Name this bone:

1. Pisiform bone.

2. Scaphoid bone.

3. Trapezium bone.

4. Lunate bone.

31. There was a trauma of a vertebral column.The blood supply a posterior part of a brain was disturbed. What part of the vertebral column has undergone to trauma?

1. Cervical part

2. Thoracic part

3. Lumbar part

4. Sacral part

5. Coccygeal part

32. On X-ray film it is revealed a cleft in the region of middle part of the sacrum posteriorly. Before that clinical signs has not been revealed. As a result of nonunion  what processes of the sacral vertebrae this cleft was formed?

1. Spinous. 
2. Transverse

3.  Articular

4. Accessory

33. The patient was ill with a pneumonia after which the pleuritis has developed. How it is necessary to make a puncture of the pleural cavity?

1. Along  the superior edge of a rib

2. Along the inferior edge of the rib

3. Between spinous processes of thoracic vertebrae

4. between transverse processes of thoracic vertebrae

5. Between articular processes of thoracic vertebrae

34. A 20 years old man complains of a pain in the inferior region of the breast bone. From anamnesis: jumped from a tower in water and has hit on a stone and feel discomfort in this region. Fracture of what formation of a breast bone has taken place during the jump?

1. Xiphoid process

2. Handle of the sternum

3. Angle of the sternum

4. Body of the sternum

35. At falling on the right hand adducted to a trunk the victim has felt a crunch and acute pain in the superior third of right arm. Movement in the arm is not possible; its superior third is deformated. What bones can be injured?

1. Humerus

2. Sternum

3. Scapula

4. Clavicle

5. Ribs

36. 45 years patient has a trauma of the posterior region of middle third of humerus. What bony formation is injured in this case?

1. Groove of the radial nerve

2. Groove of the biceps brachii muscle

3. Groove of the median nerve

4. Groove of the humeral nerve

5. Groove of the ulnar nerve

37. An young man has fallen to the right arm. After one day he has addressed to the traumatologist with complaints on a severe pain in elbow joint. At medical examination: edema, morbidity in the region of  posterior part of elbow joint. What process and what bone has undergone to a trauma?

1. Olecranon of the ulna

2. Styloid process of the ulna

3. Coronoid process of the ulna

4. Styloid process of the radius

38. After trauma a patient had  morbidity, edema and hematoma of medial part of the wrist . What bone of the wrist has most likely undergone to a trauma?

1. Pisiform

2. Cuboid

3. Capitate

4. Trapezoid

5. Scaphoid

39. There was a road accident after which 30 years woman has morbidity at a palpation in the region of anterior part of the hip bone. What pelvic bone is injured?

1. Pubic

2. Ischium

3. Ilium

4. Sacral

5. Femur

40. 78-years woman has trauma one of free lower limb bones after falling. Nutrition of the head of this bone is disturbed. Objective findings: swelling, palpatory tenderness, haematoma within upper segment of free lower limb. Which bone is traumatized?

1. Femur.

2. Fibula.

3. Tibia.

4. Talus.

5. Calcaneus.

41. After trauma a patient had edema and hematoma on the medial side of superior third of the leg. Which part at what bone of the leg was injured ?

1. Metaphyseal zone of a tibia

2. Diaphysis of a fibula

3. Metaphyseal zone of a fibula

4. Diaphysis of a tibia

5. Apophysis of a tibia

42. A man got trauma as the result of direct impact on internal surface of the middle third of shin. Fracture of what anatomic formation is most possible?

1. Diaphysis of a tibia

2. Distal epiphysis of a fibula

3. Distal epiphysis of a tibia

4. Proximal epiphysis of a tibia

5. Proximal epiphysis of a fibula

43. A patient of 45 years complains of a pain in region of foot. At medical investigation: oedema, morbidity, and a hematoma on the medial side of a dorsum of a foot. The patient cannot step on a sick limb. Fracture of what tarsal bones is most probably in this case?

1. Navicular

2. Calcaneus

3. Cuboid

4. Lateral cuneiform

5. Talus

44. An older women has been hospitalised with acute pain and edema of the right hip joint that appeared after a fall. Objectively: the hip is adducted inwards, hip joint movements are impaired. The patient is most likely to have a fracture of the following bone or bone part:

1. Femoral neck

2. Shaft of femur

3. Ichial bone

4. Pubic bone

5. Condyle of femur

45. A 25 year old patient was examined by a medical board. Examination revealed pathology of the chest. Transverse dimensions were small and the sternum was strongly protruding. What chest tipe is it?

1. Keeled chest

2. Funnel chest

3. Flat chest

4. Cylindrical chest

5. Barrel chest

46. A casuality has a fracture in the region of the inner surface of the left ankle. What is the most likely site for the fracture?

1. Medial malleolus

2. Lower third of the fibula

3. Astragalus

4. Lateral malleolus

5. Calcaneus

	SKULL


1. The patient has rhinitis and symptoms of the inflammation of the mucous coat of the maxillary sinus. Through which structure the infection can pass from the nasal cavity into the maxillary sinus?

1.Hiatus sinus maxillaris.

2. Infundibulum of the ethmoid bone.

3. Pterygo-palate foramen.

4. Pterygo-ethmoid depression.

5. Bony air cells of the ethmoid bone.

2. The patient has rhinitis and symptoms of the inflammation of the mucous coat of the frontal sinus. Through which structure the infection can pass from the nasal cavity into the frontal sinus?

1. Infundibulum of the ethmoid bone.

2. Semilunar fissure.

3. Pterygo-palate foramen.

4. Pterygo-ethmoid depression.

5. Bony air cells of the ethmoid bone.

3. The patient has rhinitis and symptoms of the inflammation of the mucous coat of the sphenoid sinus. Through which structure the infection can pass from the nasal cavity into the sphenoid sinus?

1. Orifice of the sphenoid sinus.

2. Semilunar fissure.

3. Pterygo-palate foramen.

4. Semilunar fissure.

5. Bony air cells of the ethmoid bone.

4. During examination of the nasal cavity the doctor detected pus in the middle nasal passage. What paranasal sinuses can take this inflammation?

1. Maxillary and frontal sinuses, anterior and middle air cells of the ethmoid bone.

2. Maxillary and sphenoid sinuses.

3. Frontal and sphenoid sinuses, anterior and posterior air cells of the ethmoid bone.

4. Anterior, middle and posterior air cells of the ethmoid bone.

5. Sphenoid sinus, posterior air cells of the ethmoid bone.

5. A patient has abscess of the pterygopalate fossa. Where can the infection pass?

1. Orbit

2. Interpterygoid space.

3. Frontal sinus.

4. Interaponeurotical temporal space.

5. Tympanic cavity.

6. After an acute rhinitis the patient has difficult nasal respiration, increasing of the temperature, headache and pain in the region of the right fossa canina. The inflammation of what sinus starts?

1. Sinus maxillaris dexter.

2. Sinus frontalis dexter.

3. Sinus maxillaris sinister.

4. Sinus sphenoidalis dexter.

5. Right middle air cells of the ethmoid bone.

7. A patient has a pus inflammation of the mucous coat of the frontal sinus. Where will pus spread?

1. Middle nasal passage.

2. Superior nasal passage.

3. Inferior nasal passage.

4. Choanae.

8. A patient complained to the nasal papilloma. A doctor determined that it is located at the formation under which the nasolacrimal canal opens. What is this formation?

1. Inferior nasal concha.

2. Superior nasal concha.

3. Sphenoethmoid depression.

4. Ethomoid bull.

5. Middle turbinated bone.

9. A patient has a headache during 5 days. A doctor found-«maxillary sinusitis». From what nasal passage can infection pass?

1. Middle.

2. Upper.

3. Lower.

4. Common.

5. Nasopharynx.

10. A patient has inflammation of a fat of the eye-socket. He has purulent inflammation in the region of the infraorbital opening. Through what canal can infection pass?

1. Canalis infraorbitalis.

2. Canalis incisivus.

3. Canalis pterygoideus musseter m.

4. Fissure orbitalis inferior.

5. Canalis nasolacrimalis.

11. There is purulent otitis in a patient.The upper wall of the tympanic cavity is broken. Where can pus spread from the tympanic cavity in this case?

1. In middle cranial fossa.

2. In front cranial fossa.

3. In pterygoid fossa.

4. In orbita.

5. In back cranial fossa.

12. After trauma there was a purulent inflammation of soft tissues of the orbit. Through what anatomical formation will pus pass to the pterygopala-tine fossa?

1. Fissure orbitalis inferior.

2. Pterygopalatine opening.

3. Fissure orbitalis superior.

4. Zigomaticoorbital opening.

5. Round opening.

13. Right maxillary sinus has an accumulation of the pus. In which nasal passage will the pus pass?

1. In a right middle nasal passage.

2. In a right nasopharyngeal passage.

3. In a right lower nasal passage.

4. In a right upper nasal passage.

5. In a right common nasal passage.

14. After an infectious disease of the respiratory apparatus, pain appeared in the area of the frontal bone. Where is the inflammation located?

1. Frontal sinus.

2. Superior nasal concha.

3. Sphenoidal sinus.

4. Maxillary sinus.

5. Superior nasal passage.

15. During the examination of the nasal cavity of a patient accumulation of the pus in the inferior nasal passage was detected. Into which of mentioned formations may the inflammatory process proceed?

1. Nasolacrimal canal.

2. Highmore sinus.

3. Frontal sinus.

4. Sphenoid sinus.

5. Ethmoid sinus.

16. The patient was admitted to the department for the correct of the nasal septa deformity. Which of the mentioned bones form the nasal septum?

1. Perpendicular plate of ethmoid bone, vomer.

2. Horisontal plate of palatine bone, vomer.

3. Inferior nasal concha, vomer.

4. Perpendicular plate of palatine bone, vomer.

17. An X-ray photo revealed the shading and presence of liquid in the right maxillary sinus. Maxillary sinusitis was diagnosed. Doctor should do the puncture of the sinus for the extraction of the pus. Into which of the mentioned formations should the needle be introduced for puncture?

1. Medial nasal passage.

2. General nasal passage.

3. Inferior nasal passage.

4. Nasal vestibule.

5. Upper nasal passage.

18. The doctor predicts the probability of inflammation of the orbital cellular tissue during the inflammation in the area of fossa canina. Through which formation can the infection spread?

1. Infraorbital canal.

2. Inferior orbital fossura.

3. Pterygoid canal.

4. Nasolacrimal canal.

5. Incisivus canal.

19. Due to the tumor of the hypophysis, destruction and enlargement of the fossa hypophysialis was detected during X-ray examination. Which structure can be destroyed?

1. Sinus of the sphenoid bone.

2. Sinus of the frontal bone.

3. Sinus of the maxilla.

4. Optic canal.

5. Tympanic cavity.

20. After trauma of the head, the pyramid of patient’s temporal bone was broken. The line of fracture was perpendicular to the axis of the pyramid, on the lateral side from internal auditory opening. Which canal of the  temporal bone can be destroyed?

1. Facial canal.

2. Mastoid canal.

3. Tympanic canal.

4. Canalicilus of chorda tympani nerve.

5. Semicircular canals of labyrinth.

21. After a nasopharyngeal inflammation, acute pain appeared in the right ear of 2-year-old boy. During exami-nation, the inflammation of middle ear was detected. Through which anatomical formation can the infection pass to the cavity of middle ear from the nasopharynx?

1. Semicanal of auditory tube.

2. Canaliculus of chorda tympani nerve.

3. Canaliculus tympanicus.

4. Caroticotympanic canaliculi.

5. Semicanal of tensor tympanic m.

22. In a car accident the passenger injured the left eyebrow. During the examination of the nasal cavity, blood discharging from the left side of middle nasal passage was detected. The fracture of which formation is possible?

1. Fracture of the wall of frontal sinus.

2. Fracture of sphenoid sinus.

3. Damage of nasolacrimal canal.

4. Damage of labyrinths of ethmoid bone.

5. Fracture of maxillary sinus.

23. After a fall, victim felt pain in occipital area. The fracture of which bone is suspected?

1. Occipital bone.

2. Parietal bone.

3. Temporal bone.

4. Frontal bone.

5. Sphenoid bone.

24. A cranial trauma caused the fracture of the sphenoid bone at the base of the pterygoid process. The content of which canal can be destroyed?

1. Pterygoid.

2. Musculotubarian.

3. Tympanic.

4. Carotid.

5. Facial.

25. For a long time patient has been suffering from the inflammation of mucous membrane of the labyrinths of the ethmoid bone. Other paranasal sinuses are not injured. In which formation can the doctor find the inflammatory secret.

1. In upper and middle nasal passages.

2. In inferior and middle nasal passages.

3. Only in inferior nasal passage.

4. Only in middle nasal passage.

5. In mandibular sinus.

26. An abscess located deep in infratemporal fossa, partially penetrates the pterygopalatine fossa. Through which formations will the inflammatory process probably spread?

1. Sphenopalatine and round openings, great palatine and pterygoid canals, infraorbital fissure.

2. Jugular and lacerum openings, great palatine and pterygoid canals.

3. Pterygopalatine and round openings, optic and infraorbital canals.

27. Patient complains of the pain in the right side of face. Xray examination of the head showed shading in the right side of the maxillary body. Chronic exudative maxillitis was diagnosed. From which formation and where can the inflammation spread?

1. From maxillary sinus to the middle nasal passage.

2. From nasolacrimal canal to the inferior nasal passage.

3. From incisor canal to the inferior nasal passage.

4. From posterior cells of ethmoid bone to the upper nasal passage.

5. From frontal sinus to the middle nasal passage.

28. In a car accident the passenger injured the right surface of the face. During X- ray examination the fracture of the zygomatic arch was detected. Which bones form zygomatic arc?

1. Zygomatic process of the temporal bone and temporal process of the zygomatic bone.

2. Zygomatic process of the temporal bone and frontal process of the maxilla.

3. Zygomatic process of the maxilla and temporal process of the zygomatic bone.

29. A 5 year child has the purulent inflammation of the middle ear. The disease began with inflammation of the nasopharynx. Through what canal of the temporal bone did the infection pass to the tympanic cavity?

1. Canalis musculo-tubarius

2. Canalis caroticus

3. Canaliculus tympanici

4. Canalis chorda tympani

5. Canaliculi carotico-tympanici

30. Examination of a patient revealed an abscess of the pterygopalatine fossa. Where can the infection spread to unless the disease is managed in time?

1. To the orbit 

2. To the subgaleal temporal space

3. To the interpterygoid space

4. To the frontal sinus

5. To the tympanic cavity 

31. At road accident the lachrymal gland together with the bone, on which it is situated are damaged. What bone is damaged?

1. Frontal

2. Maxilla

3. Lachrymal

4. Nasal

5. Ethmoid

32. A patient has fracture of the base of the skull. The line of fracture passes through round and spine openings. What bone is injured?

1. Sphenoid.

2. Temporal.

3. Frontal.

4. Ethmoid.

5. Occipital

33. A victim has right-side fracture of middle third of mandible. What canal can be injured?

1. Mandibular.

2. Greater palatine.

3. Pterygoid.

4. Infraorbital.

5. Lesser palatine.

34. At a trauma of the maxilla the numbness is marked in the region of the upper molars. What formations are damaged?

1. Alveolar foramens of maxilla

2. Infraorbital canal

3. Ethmoid aperture of maxilla

4. Infraorbital foramen of maxilla

5. Supraorbital foramen of maxilla

35. After a trauma in the region of the nose a woman complains of the absence of smelling, an edema of mucous layer of the nose. What bone of a skull is damaged?

1. Ethmoid

2. Frontal

3. Zygomatic

4. Temporal

5. Sphenoid

36. A patient had an inflammation of a mucosa of a nose. Disease has become complicated by an inflammation of conjunctiva of the eye. Through what anatomical formation an infection may spread?

1. Nasolacrimal canal.

2. Sphenopalatine foramen.

3. Hiatus semilunaris.

4. Greater palatine canal.

5. Lesser palatine canal.

37. At the patient the complete blindness has appeared after a road accident. What canal has been damaged?

1. Optic canal

2. Superior orbital fissure 

3. Inferior orbital fissure 

4. Nasolacrimal canal

38. As a result of road accident there was a fracture in the region of the central part of the base of the skull. What bone is damaged at a trauma?

1. Spheniod

2. Frontal

3. Temporal

4. Parietal

5. Ethmoid

39. How inflammatory process may spread from occipital region into the cranial cavity?

1. Via condyloid canal.

2. Via parietal foramen.

3. Via mastoid foramen.

4. Via foramen spinosum.

5. Via foramen ovale.

40. Dissolution of which orbital wall may be happen as a result of the maxillar inflammation?

1. Inferior.

2. Superior.

3. Medial.

4. Lateral.

5. Posterior.

41. What is a most probable source of spreading of purulent inflammation into mastoid cells?

1. Tympanic cavity.

2. Sterno-cleido-mastoid muscle.

3. Posterior cranial fossa

4. Middle cranial fossa.

42. A patient has an inflammation in the pterygopalatine fossa. The infection has spread into the nasal cavity. Which anatomical structure has the infection spread through?

1. Foramen sphenopalatinum

2. Foramen rotundum

3. Canalis palatines major

4. Canalis palatines minor

43. Underdvelopment of which parts of facial skeleton in the embryonal period is the reason for such malformation as cleft palate?

1. Palatine processes

2. Frontal processes

3. Frontal and maxillary  processes

4. Mandibular processes

5. Mandibular and palatine processes

44. A 5 year old child was admitted to the ENT department with suppurative inflammation of middle ear (tympanitis).It began with the inflammation of nasopharynx. Through what canal of temporal bone did the infection get into tympanic cavity?

1. Musculotubal canal

2. Small canal of chorda tympani

3. Caroticotympanic foramina

4. Small tympanic canal

5. Carotid canal

45. The surgical department admitted a newborn girl who choked during sucking. Examination revealed cleft palate arising from non-union of the middle frontal process and maxillary process of the 1-st branchial arch. The cleft was located in the palate between:

1. Os incisivum et processus palatines maxillae

2. Processus palatines maxillae dextrae et sinistrae

3. Lamina horizontalis os palatinum dextrum et sinistrum

4. Processus palatines maxillae et lamina

46. X-ray examination revealed an accumulation of suppuration in maxillary sinus. Into what nasal meatus the suppuration excretes?

1. Median nasal

2. Nasopharyngeal

3. Inferior nasal

4. Superior nasal

5. Common nasal

47. An eye trauma caused soft tissues infection of eye-socket. Through what anatomical formation can the infection penetrate into the middle cranial fossa?

1. Through the superior orbital fissure

2. Through the anterior ethmoidal foramen

3. Through the posterior ethmoidal foramen

4. Through the inferior orbital fissure

5. Through the zygomatic orbital foramen

48. Examination of a 6 month-old child revealed a delay in closure of the occipital fontanelle. When it should be normally closed?

1. Until 3 months

2. Before the child is born

3. Until 6 months

4. Until the first year of life

5. Until the end of the second year of life
ARTHROLOGY

1. The anterior fonticulus wasn’t closed in 2 years child. In what age bones of the skull must be joined?

1. On the 2 year of the life

2. On the 4-6 months of the life

3. On the 1 year of the life

4. On the 2-3 months of the life

5. On the 3 year of the life

2. It’s necessary to examine a cerebrospinal fluid in 45 year patient with suspicion on inflammation of the brain’s meninges. Diagnostic puncture was done between the arches of lumbar vertebrae (L3-L4). What ligament must needle penetrate?

1. Ligamentum flava

2. Ligamentum iliolumbalis

3. Ligamentum longitudinale anterior

4. Ligamentum intertransversus

5. Ligamentum longitudinale posterior

3. A victim has the compression break of the lumbar vertebra. Lordosis was multiplied sharply. What ligament is injured in such case?

1. Ligamentum longitudinale anterior

2. Ligamentum flava

3. Ligamentum iliolumbalis

4. Ligamentum intertransversus

5. Ligamentum longitudinale posterior

4. On the X –ray photo there are damages of bodies of two lumbar vertebrae. What anatomical structure which connects the bodies of vertebrae was hurt?

1. Intervertebral discus

2. Ligamentum longitudinale posterior

3. Ligamentum intertransversaria

4. Ligamentum longitudinale anterior

5. Ligamentum sacrococcygea

5. The X-ray examination shows a changing in the intervertebral disk of the thoracic part of the vertebral column. In what type of the connection pathological changes are present?

1. Synchondrosis

2. Syndesmosis

3. Synostosis

4. Symphisis

6. The X-ray examination shows a hernia of the intervertebral disk of the thoracic part of the spine. What articulations have pathological process?

1. Synchondrosis

2. Symphisis

3. Syndesmosis.

7. What type of connection a doctor must do during applying of a bandage to support the lower jaw for a patient with fracture of the lower jaw?

1. Combined

2. Complex

3. Simple

4. Complicated

8. Dentist doctor puts his thumbs on the masticatory surfaces of the lower molars of patient, takes the lower edge of the mandibule by second fingers and strongly pulls it down. What trauma does doctor treat?

1. Dislocation of the lower jaw

2. Fracture of the foundation of the lower jaw

3. Fracture of the body of the lower jaw

4. Arthrosis of the temporomandibular joint

9. A patient has the displacement of the acromial end of the clavicle. During pressure clavicle moves downward. What ligaments are injured?

1. Lig. coracoclaviculare, lig.coracoacromiale

2. Lig. costoclaviculare, lig. sternoclaviculare posterior

3. Lig. coracohumerale, lig. sternoclaviculare anterior

10. As a result of falling down from the high place a patient has got a trauma. The muscles of the shoulder girdle are tensed, the clavicular acromial end protrudes sharply, the head of the humerus is under clavicle. What diagnosis can be put?

1. Dislocation of the shoulder joint

2. Dislocation of the 

acromioclavicular joint

3. Dislocation of the sternoclavicular joint

4. Fracture of the humeral bone

5. Fracture of the scapula

11. At a victim in the crash there is posttraumatic dislocation of the shoulder joint. What ligament is injured?

1. Lig. coracohumerale

2. Lig. acromioclaviculare

3. Lig. sternoclaviculare

4. Lig. transversus

5. Tendon of the long head of m. biceps brachii

12. A 10 years boy has a fracture of bones of the forearm. A child can’t do supination and pronantion of the forearm. In what joints such movements can be?

1. Art. radioulnaris proximalis, art. radioulnaris distalis

2. Art. radioulnaris proximalis, art. cubiti.

3. Art. radioulnaris proximalis, art. radiocarpea.

Synchondrosis

13. After trauma patient has rupture of the pubic symphysis . What type of the articulation has suffered?

1. Hemiartrosis

2. 4 longitudinal, 1 transverse.
3. Syndesmosis

4. Synchondrosis.

14. After trauma in the pelvis region X- ray examination of the patient showed the necrosis of the femoral head. Which ligament containing artery was destroyed?
1. Lig.capitis femoris

2. Lig.iliofemorale

3. Lig.pubofemorale

4. Lig.ishiofemorale.

15. A patient has fracture of the femoral neck. There is abnormal position of the femoral head. What structure is damaged?

1. Zona orbicularis
2. N.femoralis

3. A.obturatoria.

16. A footballer fell down on the knee joint and injured leg. Which structures are injured most probably?

1. Menisci of the knee joint

2. Neck of the femur

3. Ligaments of the knee joint

17. A skier fell down on the right bended knee with pronation of the leg. He was hospitalized with acute pain. The mechanism of this trauma is characteristic at a defeat of:

1. Meniscus lateralis

2. Meniscus medialis

3. Lig.transversum genus

4. Lig.cruciatum anterius.

18. After trauma of the knee joint few synovial bursae of this joint were hurt. How many synovial bursae surround knee joint?

1. 7.

2. 6.

3. 5.

4. 8.

19. After trauma a man complains of pathological movements in knee joint – anteroposterior dislocation of the leg relative to thigh (so called “compartment” symptom). What ligaments of the knee joint are injured? 

1. Ligg.cruciatum

2. Lig.popliteum arcuatum

3. Membrana interosseum

4. Lig.collaterale

20. Footballer complains of pain in right knee joint. During examination doctor detects dislocation of lateral meniscus. What ligament was injured?

1. Lig.transversum genus

2. Lig.popliteum obliquumn

3. Lig.popliteum arcuatum

4. Lig.patellae

21. A victim has fracture in region of inner surface of left ankle joint. What structure is destroyed?

1. Malleolus medialis

2. Fibula

3. Talus

4. Malleolus lateralis.

22. After trauma of the foot, a patient was operated

(disarticulation in Chopar’s joint) The “key” of this joint is:

1. Lig.bifurcatum

2. Lig.talocalcaneum interosseum

3. Lig.cuneocuboideum interosseum

4. Ligg.plantaria.

23. The patient with diabetes mellitus (sugar disease) had gangrene of the foot. The doctor carried out operation in the region of “ Chopar’s” joint. What ligament must doctor cut?

1. Lig.bifurcatum

2. Lig.cuneocuboideum dorsale

3. Lig.talocalcaneum laterale

4. Lig.talocalcaneum interosseum

24. What anatomic feature of newborn contributes in formation of head’s bruise at labor trauma?

1. Presence of fontanelles

2. Mobility of bones which form the vault of skull

3. Weak development  of fatty layer of the head’s skin

25. The patient has intra-articular fracture of the femur′s neck with the asymmetry of its head. What structure is broken?

1. Lig. capitis femoris

2. Lig. Iliofemorale

3. N. femoralis

4. N. obturatorius

5. A. obturatoria

26. An old woman was hospitalized with acute pain, edema in the right hip joint; the movements in the joint are limited. Which bone or part of it was broken?

1. The neck of the thigh 

2. The body of the thigh bone
3. Pubic bone
4. Condyle of the thigh
5. Ischial bone

27. During the operation of the hip joint one ligament, which caused bleeding was cut. What is it?

1. Lig. capitis femoris.

2. Lig. iliofemoralis

3. lig. pubofemoralis

4. Lig.ischiofemoralis.

28. A 45-years man fell on the right knee and felt the acute pain in the joint. On examination: severe edema on the anterior surface of the knee joint. Crunching sounds are heard while moving the joint. Which bone is destroyed?

1. Knee-cap 

2. Neck of the thigh bone

3. Head of the thigh bone

4. Left epicondyle of the thigh

5. Right epicondyle of the thigh

29. A doctor carries out operation of the Lisfranc’s joint. This joint is formed by the aggregation of the:

1. Tarsometatarsal joints.

2. Intermetatarsal joints.

3. Metatarsophalangeal joints. 
30. A diagnosis “flat foot” was put to 5 years boy. Few longitudinal arches of his foot were not normal. How many arches are on the foot?

1. 5 longitudinal, 1 transverse.

2. 4 longitudinal, 1 transverse
3 .6 longitudinal, 2 transverse.
31. After trauma of the man’s elbow joint X-ray photo shows the destruction of the capitulum humeri. What part of the elbow joint is formed by the capitulum humeri?

1. Articulation humeroradialis.

2. Articulatio humeroulnaris.

3. Articulatio radioulnaris

32. Under laminectomy (removing of vertebral arch) surgeon has to remove ligaments connecting arches. Which ones?

1. Yellow ligament.

2. Posterior longitudinal ligament.

3. Interspinous ligaments.

4. Anterior longitudinal ligament.

5. Intertransverse ligaments.

33. For reposition of dislocation of a mandible it is necessary to move it from superior to inferior. What anatomic formation causes such action?

1. Articular tubercle of temporal bone.

2. Condyloid process of mandible.

3. Mandibular fossa of temporal bone.

4. Notch of mandible.

5. Coronoid process of mandible.

34. The child is about 2 years old. Mother has addressed to the pediatrist with the complaint to revealing of soft area on the anterior part of the skull-cap. What fontanelle was not closed by this time?

1. Anterior (frontal) fontanelle

2. Posterior (occipital) fontanelle

3. Anterior and posterior fontanelle

4. Anterio-lateral (clinoid) fontanelle

5. Posterio-lateral (mastoid) fontanelle

35. After falling at the child the anterior fontanelle has been injured. What kind of connection of skull bones was broken?

1. Syndesmosis

2. Synchondrosis

3. Synostosis

4. Hemiarthrosis

36. At a patient there is bilateral dislocation of temporomandibular joint. What the basic ligaments of a joint will be damaged?

1. Lateral ligaments.

2. Pterygomandibular ligament.

3. Stylomandibular ligament.

4. Intraarticular ligaments.

37. As a result of pathologic labor separation of pubic bones was diagnosed. . What type of bone connection was damaged?

1. Symphysis.

2. Syndesmosis.

3. Synchondrosis.

4. Synostosis.

5. Diarthrosis.

38. On operation the fracture of a femur within a joint cavity with blood is found out. What ligament of a hip joint is damaged?

1. Ligament of femoral head .

2. Transverse.

3. Pubofemoral.

4. Iliofemoral.

5. Ischiofemoral.

39. X ray examination revealed fracture of bone placed within quadriceps femoris muscle tendon. What kind of bone is it?

1. Sesamoid.

2. Flat.

3. Tubular.

4. Pneumatic.

5. Mixed.

40. Examination of a 6-month-old child revealed a delay in closure of the occipital fontanelle. When should it normally close?

1. Until 3 months.

2. Until the end of the first year of life.

3. Before the child is born.

4. Until the end of the second year of life.

5. Until 6 months.

41. It is necessary to take the cerebrospinal fluid from a patient with suspected inflammation of brains maninges. Diagnostic puncture was performed between the arches of the lumbar vertebrae. During the puncture the needle went through the following ligament:

1. Yellow (flava)

2. Iliolumbar

3. Anterior longitudinal

4. Posterior longitudinal

5. Intertransverse

42. A victim of a road accident has an abruption of a part of mandibular angle, displacement of fragment backwards and upwards. What ligament is responsible for this displacement?

1. Stylomandibular

2. Intraarticular

3. Lateral

4. Sphenomandibular

5. Pterygomandibular

43. During the operation on the hip joint of a 5-years-old child her ligament was damaged which caused bleeding. What ligament was damaged?

1. Ligament of the femoral head

2. Iliofemoral ligament

3. Pubofemoral ligament

4. Ischiofemoral ligament

44. A 6-year-old child fell on the cutting object and traumatized soft tissues between tibia and fibula. What kind of bone connection was injured?

1. Membrane

2. Suture

3. Ligament

4. Fontanel

5. Gomphosis

45. A boxer who got a punch in the region of temporomandibular joint has a traumatic dislocation of the mandible. Displacement of what articular surfaces will overstep the limits of physiological norm?

1. Head of mandible and mandibular fossa

2. Coronoid process and pterygoid fossa

3. Coronoid process and submandibular fossa

4. Head of mandible and submandibular fossa

5. Neck of mandible and submandibular fossa

MYOLOGY

1. A patient was admitted with complaints of pain in the left half of the neck, which increases during movements of the head. The declination of the head to the left side with the face turned to the right side gives pain. The action of which muscle is disturbed?

1. Left sternocleidomastoid muscle.

2. Right sternocleidomastoid muscle.

3. Right platisma muscle.

4. Left platisma muscle.

5. Long muscle of the neck.

2. Young man feels a pain in the back during active tightening on the horizontal bar. Objectively: pain while moving of upper extremity, limited pronation and adduction functions. Strained of what muscle is present?

1. M. latissimus dorsi

2. M. rhomboideus major

3. M. levator scapulae

4. M. trapezius

5. M. subscapularis

3. The split on the posterior surface of the humerus was diagnosed. There were symptoms of the affection of the radial nerve in the region of the humero-muscular canal. Which of the following structures form the walls of this canal?

1. Posterior surface of the humerus and    m. triceps brachii.

2. Anterior surface of the humerus and m. biceps brachii.

3. Anterior surface of the humerus and m. coracobrachialis.

4. Anterior surface of the humerus and m. brachialis.

5. Posterior surface of the humerus and m. anconeus.

4. A patient had a foreign object in his respiratory tract. Tracheostomy was formed in the region of the neck, which is bounded by the superior belly of the omohyoid muscle, by the sternocleidomastoid muscle and by the middle line of the neck. How is this triangle called?

1. Omotracheale.

2. Caroticum.

3. Submandibulare.

4. Omotrapezoideum.

5. Omoclaviculare.

5. A tennis player had the inflammation of the tendon of one of the muscle of the shoulder girdle which is caused by the friction of this tendon with the acromion of the scapula. Name this muscle.

1. M. supraspinatus

2. M. subscapularis.

3. M. infraspinatus.

4. M. teres major.

5. M. deltoideus.

6. The lateral part of the face of 18 years patient was traumatized after the fight. During examination a doctor determined that the skin is traumatized, the branch of the lower jaw is broken. Only one muscle is  not injured (it does not raise a lower jaw). What is this muscle?
1. Lateral pterygoid muscle.

2. Anterior bundles of the temporal muscle.

3. Middle bundles of the temporal muscle.

4. Medial pterygoid muscle.

7. After trauma a patient does not move the lower jaw to the front and to the right. What muscle is injured?

1. Left lateral pterygoid m. 

2. Left masseter m.

3. Right temporal m.

4. Left temporal m.

8. A patient complains of a pain in the region of the left part of the neck which increases during movements of the head. Movements are not trouble for the patient: a slope of the face to the left with turning of the head to the right. What muscle is injured in this case?

1. m. sternocleidomastoideus sinistra.

2. m. sternocleidomastoideus dextra.

3. m. platisma dextra.

4. m. platisma sinistra.

5. m. longus colli.

9. A patient cannot extend elbow joint. What muscle is hurt?

1. Triceps m.

2. Biceps m.

3. Brachial m.

4. Coracobrachial m.

5. Brachioradial m.

10. After trauma a sick man can’t move by the shoulder to the back. Which muscles are hurt?  

1. m. deltoideus.

2. m. infraspinatus.

3. m. levator scapule.

4. m. teres major.

5. m. subscapularis.

11. A weak place of the anterior abdominal wall is an umbilical ring. Which elements of a structure of the anterior abdominal wall are absent here? 

1. Aponeurosis.

2. Superficial fascia.

3. Own fascia.

4. Internal fascia.

5. Peritoneum.

12. During trauma in the region of the processus coronoideus of the lower jaw a sick man does not move the jaw backwards from foreward position. Which muscle is injured?

1. m. temporalis.

2. m. masseter.

3. m. pterygoideus lateralis.

4. m. pterygoideus medialis.

5. m. levator anguli oris.

13. During examination of a patient the function of a closing of eye-slit breaks. Which muscle is injured?

1. m. orbicularis oculi.

2. m. procerus.

3. m. orbicularis oris.

4. m. corrugator supercilii.

5. m. depressor supercilii.

14.  A 52 years man has hernial protrusion on the lower part of the anterior abdominal wall. Through which anatomical formation the hernia protrusion was formed more probably? 

1. Canalis inguinalis.

2. Anulus femoralis.

3. Anulus umbilicalis.

4. Linea alba. 

5. Lig. inguinalis.

15. A 42 years old sick man came to the hospital with a cut wound of the low part of the front surface of the arm. He does not bend the forearm. Which muscles are hurt?

1. m. brachialis, m. biceps brachii.

2. m. biceps brachii, m. anconeus.

3. m. coracobrachialis, m. supraspinatus.

4. m. deltoideus, m. infraspinatus.

5. m. deltoideus, m. biceps brachii.

16. After a trauma of the lateral surface of the head, the condylar and coronoid processes of the lower jaw were fractured. Actions of which muscles are hurt?

1. Lateral pterygoid, temporal.

2. Masseter, temporal. 

3. Medial pterygoid, lateral pterygoid.

4. Buccal, temporal.

17. In an injury the middle part of the biceps muscle of the arm was ruptured. Which actions of the upper limb are disordered?

1. Flexion in shoulder joint, flexion in elbow joint.

2. Flexion in shoulder joint, extension in elbow joint. 

3. Extension in shoulder joint, supination of forearm.

4. Pronation of forearm.

18. After an intramuscular injection abscess in the patient's gluteus maximus muscle was formed. What actions of the hip joint will be limited?

1. Extension, lateral rotation.

2. Extension, flexion.

3. Adduction.

4. Abduction.

5. Pronation.

19. After trauma in a car accident a patient can’t flex the leg in the knee joint. Actions of what muscles are suffered?

1. Semimembranous m., semitendinous m.,biceps femoris 

2. Semimembranous m., semitendinous m., quadriceps femoris m.

3. Semitendinous m., sartorius m., posterior tibial m.

20. During operation of the woman’s inguinal hernia, the surgeon unintentionally cut part of the fixing apparatus of the uterus. Which of the mentioned ligaments was damaged during this operation?

1. Round lig.

2. Ovarian proper lig.

3. Broad lig.

4. Cardinal lig.

21. A 18 years old patient after having an angina turned to the doctor with complaint of the worsening of her condition. During examination pharyngeal abscess was detected. Which interfascial space should the surgeon penetrate during the section of abscess?

1. Retrovisceral. 

2. Previsceral.

3. Interapponeurotic suprathoracal.

4. Submandibular.

5. Pretracheal.

22. For performed operation on the thigh’s vessels, the surgeon should find the femoral triangle. The triangle is formed by:

1. Inguinal lig. adductor longus muscle, sartorius muscle.

2. Lacunar lig. sartorius muscle,

 adductor brevis muscle.

3. Gracilis muscle, adductor longus muscle, inguinal lig.

23. A trauma caused a defect in the innervation of the thigh's muscles. Patient cannot adduct the femur. Which muscles are suffering?

1. Adductor brevis muscle, adductor longus muscle, gracilis muscle, adductor magnus muscle, pectineus muscle.

2. Adductor brevis muscle, quadrate muscle of thigh, quadriceps muscle of thigh.

3. Adductor brevis muscle, semitendinous and semimembranous muscles.

4. Adductor brevis muscle, sartorius muscle, tensor muscle of fascia lata.

24. A 42-years old man wounded the lower part of the frontal surface of the arm. He can’t flex the forearm. Which muscles are probably damaged?

1. Brachial muscle of arm, biceps muscle of arm.

2. Triceps muscle of arm, anconeus muscle.

3. Coracobrachial muscle, brachioradial muscle.

4. Pronator teres muscle, palmaris longus muscle.

5. Flexor digitirum superficialis and flexor digitorum profundus muscles.

25. A 45-years old man damaged the posterior region of the left elbow joint. It is difficult to extend the forearm now. Which muscles are probably damaged?

1. Triceps m., anconeus m.

3. Triceps m., brachioradial m.

4. Brachioradial m., biceps m. 

5. Coracobrachial m.

26. During training a 17-years girl has stretched muscles of the right upper limb. She cannot abduct the arm.Which muscles can be damaged?

1. Deltoid and supraspinatus muscles.

2. Brachial and teres major muscles.

3. Brachial and rhomboid muscles.

4. Subscapular and coracobrachial muscles.

5. Teres major and minor muscles.

27. Glass fell on the dorsal surface of the foot, causing a deep cutting injury. Tendons of which muscles were probably suffered in this case?

1. Short and long extensor muscles of toes, short and long extensor muscles of great toe.

2. Short and long flexor muscles of great toe.

3. Adductor hallucis, posterior tibial muscle.

4. Long flexor muscle of toes, adductor longus muscle.

28. During a tennis game, sportsman twisted the foot, causing the fracture of the lateral malleolus. Tendons of which muscles were suffered at the trauma?

1. Long fibular m., short fibular m.

2. Semimembranous, gastrocnemius, biceps m.m.

3. Semitendinous, anterior tibial m.m.

4. Posterior tibial m., long flexion muscle of toes.

5. Anterior tibial m., long extension muscles of toes.

29. A 45-years man was wounded in the front-medial side of the chest along the anterior axillary line. Which muscles are subjected to surgical treatment?

1. Major pectoral m., minor pectoral m., anterior serrate m.

2. Transversus thoracis m., innermost intercostal m.m.

3. Posterior serrate m., major pectoral m., minor pectoral m.

4. Pectoral m.m., serrate m.m.

5. Internal intercostal and subcostal m.m.

30. During examination of the patient with damage of the lumbar region,  the restriction in straighten of his back  is detected. Which muscle  isprobably damaged?

1. Erector spinae m.

2. Latissimus dorsi m.

3. Major rhomboid m.

4. Serratus posterior inferior m.

5. Longest m. 

31. After a long period of exposure to cold, actions of some muscles of the patient’s back  were affected, causing the impossibility of the bending of the  head and neck backward. Which muscles have probably suffered?

1. Splenius m.m. of  the head and neck.

2. Major and minor rhomboid m.m.

3. Sternocleidomastiod m.

4. Levator muscle of scapula.

5. Long m.m. of head and neck.

32. The diaphragm of the oral cavity was damaged by a sharp object. Which muscles have probably suffered?

1. Geniohyoid m., mylohyoid m.

2. Tensor muscle of palate velum.

3. Palatoglossal m.

4. Palatopharyngeal m.

33. It is necessary to press   
artery for temporary stopping of the intensive bleeding in the region of the head. This triangle is located on the neck and bounded by  the sternocleidomastoid muscle  , the posterior belly of the digastric muscle  , and the superior belly of  omohyoid muscle.  Name this triangle:

1. Carotid.

2. Submandibular.

3. Omotracheal.

4. Omoclavicular.

5. Omotrapezoid.

34. A patient was admitted with complaints of a pain in the epigastric region. These complaints are connected with the possibility of hernia formation. Name the weak places of the anterior abdominal wall in the epigastric region where the hernia can be formed if there is increasing of the intra-abdominal pressure:

1. Alba (white) line.

2. Inguinal canal.

3. Umbilical region.

4. Femoral canal.

5. Adductor canal.

35. The declination of the head with the face turned to the opposite side was observed. The action of which muscle was probably disturbed?

1. Sternocleidomastoid m.

2. Trapezius m.

3. Mylohyoid m.

4. Anterior and posterior scalenus m.m.

5. Sternothyroid m.

36. A 56-years  woman complains of a pain in the left inguinal region. During examination, femoral hernia was diagnosed. Which of the following structures form the walls of femoral canal?

1. Superficial layer of wide fascia of thigh, femoral vein, deep layer of wide fascia of thigh.

2. Inguinal ligament, femoral vein.

3. Superficial layer of wide fascia of thigh, femoral artery.

37. The girth of right thigh of a 35-years woman is much lesser than the girth of left one. The right knee reflex is absent. Which muscle is probably atrophied?

1. Quadriceps.

2. Triceps.

3. Iliopsoas.

4. Obturatorius.

5. Sartorius.

38. A 42-years man suffering from a straight inguinal hernia was operated. Through which anatomical formation did the hernia appear?

1. Medial inguinal fossa.

2. Lateral inguinal fossa.

3. Supravesical fossa.

4. Femoral triangle.

5. Saphenous opening.

39. A 50-years patient complains of impossibility of the adduction and abduction of the fingers in the metacarpophalangeal joints. The actions of which muscles are probably disturbed?

1. Interosseous mm.

2. Lumbrical mm.

3. Deep flexor of fingers.

4. Superficial flexor of fingers.

5. Extensor of fingers.

40. Patient cannot adduct and abduct fingers towards and away from the III finger. Which muscles of hand are damaged?

1. Interosseus palmar mm., interosseus dorsal m.m.

2. Interosseus palmar mm., lumbrical m.m.

3. Interosseus palmar mm., hypothenar m.m.

4. Lumbrical mm., interosseus dorsal m.m., thenar m.m.

41. A 45-years man applied to the trauma unit because of shoulder trauma. Objectively: flexibility, adduction and pronation function of the shoulder are absent. What muscle was injured?

1. Subscapular muscle and

teres major muscle

2. Supraspinous muscle and

infraspinous muscle

3. Teres minor muscle and

teres major muscle

42. A 7-years child can’t abduct the shoulder, raise it to the horizontal level. He can raise the hand to the face only with its dorsal side, abduct the shoulder (with help of supraspinous muscle) – “bugler” arm. Active action of what muscle is absent?

1. Deltoid

2. Teres major

3. Infraspinous

4. Teres minor

5. Pectoral major

43. A sick man with neuritis of the femoral nerve has disturbance of the flexion of the thigh and extension of the leg in knee joint. What muscle is damaged?

1. M. quadriceps femoris

2. M. biceps femoris

3. M. semitendinosus

4. M. semimembranosus

44. The patient with affection of the ulnar nerve cannot adduct II, V fingers to the middle line. Which muscles of hand are damaged?

1. M.m. interossei palmares

2. M.m. interossei dorsales

3. M.m. lumbricales

4. M. palmaris brevis

45. A man with the cut wound of the anterior abdominal was admitted to the hospital. The objective data: cut wound of the anterior wall of the rectus abdominis muscle’s sheath above navel. What aponeuroses form this wall?

1. Aponeurosis of the external oblique abdominis m. and half of the lamina of the aponeurosis of the internal oblique abdominis m.

2. Aponeuroses of the external and internal oblique abdominis muscles.

3.Aponeuroses of the external oblique and transversus abdominis mm.

 46. A man with the cut wound of the anterior abdominal wall was admitted to the hospital. The objective data: cut wound of the anterior wall of the rectus abdominis muscle’s sheath 5cm below navel. What aponeuroses form this wall?
1. Aponeuroses of the external  and  internal oblique and transversus abdominis mm.

2. Aponeuroses of the external and internal oblique abdominis mm.

3. Aponeuroses of the internal oblique and transversus abdominis muscles.

47. A 45-years man applied to the trauma unit because of domestic shoulder trauma. Objectively: abduction of the shoulder is absent. What muscle was injured?

1. Supraspinatus muscle

2. Infraspinatus muscle
3. Teres major muscle
4. Subscapular muscle
5. Teres minor muscle

48. A 7-years boy can't pronate the forearm. Active action of what muscle is absent?

1. Square pronator m.
2. Round pronator m.
3. Brachioradial m.
4. Supinator m.
49. A 45-years man with back injury applied to the trauma unit. The objective data: movements of the scapula are limited. What muscles can be damaged?
1. Trapezius, rhomboid mm.
2. Levator scapulae, splenius mm
3. Seratus posterior superior m.
4. Supraspinatus, deltoid mm.
50. A 45-years man with arm injury came to the trauma unit. The objective data are: the pronation and adduction of the arm are absent. What muscle is damaged?
1. Subscapular m.
2. Infraspinatus m.
3. Supraspinatus m,
4. Teres minor m.

51. A physician examined a patient and found inguinal hernia. Through what anatomic formation does hernia pass under the skin?
1. Anulus inguinalis superficialis.
2. Hiatus saphenous.
3. Canalis adductorius.
4. Anulus inguinalis profundus.

52. A 55-years patient was hospitalized in result of the trauma of the medial group of femoral muscles. What kind of movements is the patient unable to do?

1. Adduction of femur
2. Suppination of femur
3. Flexion of femur
4. Abduction of femur
5. Extension of femur

53. A man with cut wound of his right sole was admitted to the hospital. The patient has limited elevation of the lateral foot edge and limited dorsal flexion of the foot.  What muscle is injured?

1. Long extensor muscle of toes 

2. Anterior tibial m.

3. Triceps muscle of crus

4. Long peroneal m.

5. Short peroneal m.

54. A patient with neuritis of femoral nerve has disturbed flexion of thigh as well as disturbed leg extension in the knee joint. What muscle is disturbed?

1. Quadriceps muscle of thigh 
2. Semimembranous muscle
3. Triceps muscle of thigh
4. Semitendinous muscle
5. Biceps muscle of thigh

55. As a result of an accident a patient has intense pain and oedema of the anterior leg surface; dorsal flexion of foot is hindered. Action of which leg’s muscle is most likely to be disturbed?

1. M. tibialis anterior

2. M. flexor hallucis longus

3. M. flexor digitorum longus

4. M. peroneus longus

56. A 35-years man with a trauma of his left hand was admitted to the traumatology department. Objectively: cut wound of palmar surface of left hand; proximal and middle phalanxes of II-V fingers don't bend. What muscles are damaged?

1. Superficial flexor of the fingers 

2. Deep flexor of the fingers.

3. Dorsal interosseous muscles

4. Lumbrical muscles

57. A patient with a knife wound in the left lumbar part was delivered to the emergency hospital. In course of operation a surgeon found that internal organs were not damaged but the knife injured one of the muscles of the pelvic girdle. What muscle is it?

1. Greater psoas muscle 

2. Abdominal internal oblique muscle

3. Erector muscle of spine

4. Iliac muscle
58. A man with an injury of the superficial dorsal area of his neck was admitted to the hospital. What muscle occupies this area?

1. M. trapezius

2. M. scalenus anterior

3. M. rhomboideus minor

4. M. latissimus dorsi

59. A patient has a deep cut wound on the posterior surface of his upper arm in its middle third. What muscle is damaged?

1. Triceps muscle of arm

2. Anconeus muscle

3. Biceps muscle of arm

4. Brachial muscle

5. Coracohrachial muscle

60. While performing an inguinal canal operation of mail body on account of hernia a surgeon damaged the canal's contents. What exactly was damaged? 

1. Funiculus spermaticus

2. Lig. teres uteri

3. Lig. inguinale

4. Ureter.

61. A 38-years patient came to a traumatology centre and complained about an injury of his right hand. Objectively: the patient has a cut wound in the region of the thenar eminence on the right hand; distal phalanx of I finger cannot be flexed. What muscle was injured?
1. Long flexor muscle of the thumb

2. Short  flexor muscle of the thumb 

3. Abductor muscle of the thumb

4. Opponens muscle of the thumb

5. Short abductor muscle of the thumb

62. After trauma a patient lost ability of elbow extension. What muscle is damaged?

1. M. triceps brachii

2. M. subscapularis

3. M. levator scapulae 

4. M. infraspinatus

5. M. teres major

63. A patient was admitted to the surgical department with inguinal hernia. During the operation the surgeon performs plastic surgery on posterior wall of inguinal canal. What structure forms this wall?

1. Transverse fascia

2. Peritoneum

3. Loose inferior edge of transverse abdominal muscle

4. Inguinal ligament

5. Aponeurosis of abdominal external obligue muscle

64. A patient has difficulties with hand movement. Examination revealed inflammation of common synovial sheath of flexor muscles. It is know from the patient’s anamnesis that he got a stab wound of finger a week ago. Which finger was most probably damaged?

1. Little finger.

2. Middle finger.

3. Ring’s finger.

4. Index.

5. Thumb.

65. While performing operation for inguinal hernia (in female) a surgeon damaged the inguinal canal’s contents. What exactly was damaged?

1. Lig. teres uteri

2. Lig.inguinale

3. Funiculus spermaticus

4. Urarchus

66. A boy has fallen down from a tree. Now he finds it difficult to abduct his arm into horizontal position. Which muscle is most likely to be injured?

1. M. deltoideus.

2. M. coracobrachialis.

3. M. anconeus.

4. M. triceps brachii.

5. M. supinator.

67. A doctor asked a patient to breath out fully after taking a normal breath. What muscles contract during such exhalation?

1. Diaphragm.

2. Pectoral muscles.

3. External intercostal muscle.
4. Trapezius muscle.

5. Abdominal muscles.
68. When processing a molar tooth with a dental cutter the dentist has by accident deeply wounded the patient’s cheek and damaged not only the mucosa but also a muscle. Which muscle was hurt?

1. Buccal muscle

2. Greater zygomatic muscle

3. Masticatory muscle

4. Orbicular muscle of the mouth

5. Mylohyoid muscle

69. A patient presents with disfunction of shin muscles. He cannot raise his body by standing on tiptoe. Which muscle is affected?

1. M. triceps surae

2. M. tibialis posterior

3. M. extensor digitorum longus

4. M. flexor digitorum longus

5. M. tibialis anterior

70. During manipulations aimed at treatment of mandible dislocation a physician should pay particular attention to a muscle that pulls a capsule and interarticular disc of temporomandibular articulation exteriorly. What muscle is it?

1. M. pterygoideus lateralis

2. M. masseter

3. M. pterygoideus medialis

4. M. temporalis

5. M. mylogyoideus

71. 38-year-old patient came to a traumatology centre and complained about an injury of his right hand. Objectively: the patient has a cut wound in the region of the thenar eminence on the right hand; distal phalanx of the 1 finger cannot be flexed. What muscle was injured?

1. Long flexor muscle of thumb

2. Short flexor muscle of the thumb

3. Short abductor muscle of thumb

4. Opposer muscle of thumb

5. Abductor muscle of thumb

72.  A 45-year-old man with domestic apper arm injury came to the trauma unit. The objective date are: there are no extension, adduction or pronation functions of the arm. What muscle’s damage caused this condition?

1. Teres major

2. Subscapular

3. Teres minor

4. Subspinous

5. Supraspinous

73. A 5 year old child suffers from the neck deformity. Clinical examination revealed such symptoms: apparent flexion of the head to the left, his face is turned right, passive movements of the head to the right are restricted. What muscle’s development was disturbed in this case?

1. Sternocleidomastoid

2. Trapezius

3. Splenius muscle of the head

4. Sternosublingual

5. Long muscle of the head

74. A patient displays abnormal retrodeviation of his lower jaw as a result of trauma in the region of mandibular coronal process. What muscle is most likely to be damaged?

1. M. temporalis

2. M.masseter

3. M. pterygoideus lateralis

4. M. pterygoideus medialis

5. M. levator anguli oris

75. A patient has difficulties with hand movement. Examination revealed inflammation of common synovial sheath of flexor muscles. It is known from the patient’s anamnesis that he got a stab wound of finger a week ago. Which finger was most probably damaged?

1. Digitus minimus

2. Polles

3. Digitus medius

4. Index

5. Digitus anularis

76. A patient complained about being unable to adduct and abduct fingers in the metacarpophalangeal articulations towards and away from the 3rd finger. What muscle’s function is impaired?

1.  Interosseous muscles

2. Lumbrical muscles

3. Breviflexors of fingers

4. Long flexors of fingers

5. Extensors

77. Usually the intravenous injection is done into median cubital vein because it is slightly movable due to fixation by the soft tissues. What structure fixes it in the cubital fossa?

1.  Aponeurosis of biceps muscle

2. Tendon of the triceps muscle

3. Brachial muscle

4. Brachioradial muscle

5. Anconeus muscle
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